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g Which of the following are the pillars of India’s Foreign Trade Policy 2023 ?
' A. Ease of doing business

C. Export promotion through col]aboratlon
E. Incentive to remission

Choose the correct answer :

(1) A, B, C and E only

(3) A, D and E only

B Emerging areas
D.  Import substitution

0/
‘0

N\
)"
<1

(2) A, B,C,Dand E
(4) B, C and D only

’\

1808 65’ oS S8T5 DY Jedes§ D0 2025;5\5 i Qe Pozren D ?

A QOO 580 ToHcso iﬂ—*f B.  &)N0S) eomen/dromren
L QTS 80 &T° $O° iHradesdes DO Q,/D/ AN (Des5e357) A0
_E 1858 ¢53080

QB8R AT V), DOHEES -

(1) A, B, C»O8ak E Sr(¢vH -

(2) A,B,C,D &80 E
(3) A, D 8w E S

(4) B, C B0 D Sr(evsh
2.  InlIndia, the Index of Industrial Production is constructed on :
(1) Quarterly basis {ﬁ (2) Yearly basis
(3) Weekly basis I . (4) Monthly basis
TESTIOS, FBTE &5 3B Srd) A SEOI BT :
1) (BITVE [ BHOES E?. (2) 08 (DrANOES
(B) T8 | BIOES l'"* 4) T8 |FBHOES
3. Which of the following is true in relation to N atlonal Renewal Fund (NRF) ?
(1) Its operation period was 5 years only.
(2) It was set up in 1996.
(3) It provides financial assistance to public and private sector employees.
(4) Financial assistance from NRF has been provided for the Voluntary Retirement Scheme
EATOW DVDPREE A (NRF) § S020800 1808 ¢3S DO ) ?
1) & evsdren (operation period) 5°©0 5 D0Ied YT e &')J‘Léa)
2 &I 1996 &S° Doryen STc. ~2
3) (DS 5 Bot HBAM (HawSen Sof &S,g(bm&ﬂ) &1 QO DS HI0H0 OBNOH.

() 28D HIDECED DB OB DS HHOTDF 05506 HAD DEHE HEHE0 TEH ©OBY .
Which of the following statements related to: (})ne Nation One Ration Card’ is/are true ?

A. There is seamless access to rations across-India after its launch.

B. Central Government launched the SCheIIElen the year 2016.

Choose the correct answer :

(1) B only (2) Aonly ,,h (3) NeitherAnorB  (4) Both A and B

28 B%0 2.8 BAS 5'R'%0 5020803 (808 PO’ OB / DD &y, ?

&3)6'\3 Br50D0DS S5 orsS@io Into DS BAS TB LIS TEH IEHA0TT BIS
Qerd8 @2y0den SOAFFODT Y.

B. §0Lé DD 50 B DT § cs‘ D80DoD0A.
NJOIN QIR oDE Tk

(1) B Smesh B A S (3) A B0 BTBOST S (4) A B0 B Bodky

o38
E (2) Bha
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following development finance institutions on the bagig .

g ﬁrr ellxlllgﬁstt}:'?aloDevelogpment ]%)ank of India (IDBI) of their year of establishment :

B. Industrial Investment Bank of India (HBI)- ‘

C. Industrial Credit and Investment Corporation of India (ICICI)

D. Industrial Finance Corporation of India (IFCI)

Choose the correct answer :

(1) C,B,A,D (2) D,A,B,C 3) B,C,D,A

180D @DSHB DS DOV ) F'HOLDEN DOIBIT°O STFEOIT @HhH

A. 2708 O TS ©9)dy@ 275050 (IDBI)

B. 270e 8|78 0EP22E 2508 (11BI)

C. 2786 @ WE HBI HOAM DEP2E 578 )BA® (ICICI)

D. 273 BFNE DS 8 BAS (IFCI)

QO QAFPETRTR), DOTRTSW 5

(1) C,B,A,D (2 D,AB,C =~ (3) B,C,DA 4)
6.  Match the following mega clusters with the:place of their location :

Mega Cluster : Location ¢

A. Jewellery cluster I.  Bhiwandi 4

B. Handloom cluster II. Chennai “-|
C. Leather cluster III. Ludhiana .~
D. Powerloom cluster IV. Mumbai -

V. Varanasi!
Choose the correct answer : o

(1) A-I; B-V; C-IV; D-III e (2) A-IV; B-V; C-II; D-I
(3) A-III; B-I; C-II; D-IV (4) A-1V; B-III; C-V; D-I
1808 P EOXD 73R DTN BRI (HBFOS BS$HBI0G -
e S6 (55350
238 §06 L. Dok
TJeb EN0 I 337
BAG (Eew) 306 . erdosser
53560 $06 V. S008° (i

V. &%
IBS DT Q) DOTDED : b
(1) A-L, B-V; C-IV; D-1II O (9Y AJIV; B-V; C-II; DI
(3) A-III; B-I; C-II; D-IV ©2 (4) A-IV; BIIL; C-V; DI

7.  Which of the following statements are trué'in relation to Micro, Small and Medium Enterprises

(MSMEs) in India ? ™

A. Udyam Portal was launched by the Ceniral Government for registration of MSMEs.

B. Samadhaan Portal was launched by the Central Government for filing of grievances by MSMEs.

C. Central Government created a sub-portal within Samadhaan Portal for reporting the dues and
monthly payments to MSMEs.

D. With the help of Udyam Portal, in 2021-22, more than 60 lakh MSMEs registered.
Choose the correct answer : o

4) D,C,A B
Dod

D,C,A B

LS & ST

W

Sawp

(1) B and D only M (2) A, B and C only

(3) A, Cand D only “ (4) Aand Conly

rESTFOS KrE, DB SET* SHOAM S BEI* HOFHOE (MSMEs) H020H0D (808 & spgeres® oy
RONKS %} ’

&~ MSME © S35 §8%0 0(& (9250¢8 50 r:wé,gSo QS (Udyam Portal) & (E080D0A.

B, MSME &0 ¢ @)oo (grievancég); BO0H TaHerdE Tole DS 50 JSrerS DES %y
Br50D0N0E. R 5

C. MSME e» JIoTrd TOoIods InTen H800 MSME of U80S Soard

=

AIBOIETFE HIFETS PGS S 28 &5 HPS < To(E (925068 S0 DT YD TOH.
D. &5 (Udyam) &G SSF0H0E, 2021-22 20065, 60 ©F > E0B %0y MSME e SRredy SR,

SVT ey

RABN NAFETER), DOTDE W :
(1) B 8O0 D Sre(ebad 27 A, B 00 C (¢
(3) A, C B D Sr{ebhad (4) A DBAW C Sr(ehad
ORIG
R (3) %SE
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Match the following five year plans of India with their objectives/focus :

Five Year Plan Objective / Focus
A. Eleventh Plan I. Agriculture
B. Ninth Plan II. Faster and more inclusive growth
c. Fifth Plan III. Growth with social justice and equality
D. Second Plan IV. Rapid industrialisation

V. Removal of poverty

Choose the correct answer :

(1) A-II; B-III; C-V; D-IV

(2) A-V; B-III; C-I; D-IV 52

(3) A-III; B-II; C-V; D-IV

(4) A-II; B-V; C-IV; D-III &7

rESTE HOLSY (DETVEOD e aPT oS /Sy r(rboﬂ)é OTOS BBSISIOD -

BOLISY (DTS SGI0/E5)5 60DS woso

A DBTORS (DEFVE 1. S 0H0 3
B. S2AS DTS I S50S6BS 00500 @B 5P 330
C. &S (DeTDE L a3 S°5a00, 0T 508 Erdd $980
D. Bo&S |DeT D IV. &58e5688 0|7 8ESe
V. K88 dEFeS
OOR QLN OTNT IS

-
R

(1) A-II; B-1II; C-V; D-IV
(2) A-V; B-III; C-I; D-IV &
(3) A-IL; B-IL; C-V; DAIV P
(4) A-IL; B-V; C-IV; D-III =
9.  Consider the following : : ;

Assertion (A) :  The liberalisation of the Indian economy in 1991 unleashed competitive markets.

—

Reason (R) : Compulsory licensing for the productlon of certain security and strategic related
commodities was one of the salient features of 1991 Industrial Policy Resolution.
Choose the correct answer :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) s false, but (R) is true. :
(4) (A) is true, but (R) is false. )
$0d argmseresy HOKB0S0A 3
DI a):  2r5sS €08 3539 1991 S BSBIFEVEGR FE $30) &5 ©% BBB.
5620 (R) : 2512585 OB 7553652 D00 én}):g)o &e5)B8 BHIAH0T B BIR) BWETO I
1991 8T 3(3‘:6 S80S’ 2.8 DS @oFo.

VDS DAFETR), DOEDS : ) '
@ (4) 00 (R) BT 2.5, 50 (A) & (R) SOTS: sbéea Sa

(A) BT (R) DO 2,53 sHOAKW (A) &0 (R) JOTS D3Ge.
3) (A) 3y, 5D R) 2.9).
@) (A)2,5), 5 (R) $3).

QN
(%] (4) s

"~
e
\
b
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10. Which of the following statements are true in relation to NITI Aayog 9
A. It was set up in 2015.
B. Prime Minister of India acts as the Chairman of NITI Aayog.
C. Tt serves as a think tank of the government.
D. NITI Aayog aims to foster co-operative socialism among the states,
Choose the correct answer :

(1) C and D only (2)}-33 B and C only
(3) A, B and C only ' (4)_:"¥A and D only
HS sTrh% HoDOK0D 1808 TS’ D 2 P44
A 62015 S Domyen Faty. Y <]

B. 2788 |05 oIS A esTrhiso TS écéoﬂ}@‘éo/
C. (D20e 50 By DY NSFPeTO (think tank) T ﬁpéé esa3°h a&)Smo&‘/
D. TaF® QS AP TR, 2008050 O esTBrh 3Bwgy &BY0.

DB DSTETTR, DOTHTEEW : =
(1) C B D Sr|edd (2) B HOAW C Sr(edd
¥ A, B 580 C S\ @) A 3005 D Sr$3h

11.  Which of the following statements are true in relation to five year plans of India ?
A. First Five Year Plan was launched in 1951.
B. First Five Year Plan was a successful plan.

C. The Third Five Year Plan was a total failure in reaching the targets laid down at the begmmng
of the Plan.

D. Annual plans were implemented for the period-1965 — 1969.

Choose the correct answer : , i

(1) A, C and D only (2)+ A and B only

(3) A, B and C only (45.., B and C only

2rESTE HoSS (DT DEOE H020H0D (B80S a"sa),goeS‘ S N

A S0GE3 DR (DT DED 1951 & @véoé’)owd;‘_:—

B. T H0SS (DETOE 2.8 H5OEIS DS (e dE

C. S HOSSIE (DT DE (B0250S° APODS OF SO B0 oM HOOE.
D. 1965 — 1969 578 0¥ | DErPEOD Hen DLV 2BAGH.

DB QAFE"TR), DOV :
(1) A, C OO D Sr(esd (2) A DBOM B Sr(dad
(3) A, B B3 C Sriehsdh (4)., B B C S

12. Which of the following statements is/are true in I{é‘l‘ﬁtion to five year plans in India ?
A. For the period 1978-82, Rolling Plan was implémented
B. The final draft of Flfth Five Year Plan was prepared by Prof K.N. Raj. wee
Choose the correct answer .
(1) Bonly 2) A only (4) Neither Anor B (4) Both A and B ‘
Ao Tat:ToTo) QOIS (JeTrDEB HODOLHOD Léoé)'.;slm 5O DO/AD 2. 7 ﬁ':
A. 1978-82 5678 QB0HS Lam‘@?é«(n @a0en aézﬁéso 20h0&. w’
B. 088 505858 (Her 8 Ty, 085 @@ (final draft) Q (& .. T°25 057 DA,
QB DTG, JOTHEFDS :

(1) B (e85 (2) A ST (3) A NOCSH BBOWr %) (4) ABSy B Boy

{5} DJF‘

n\\eg
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18. Which of the following is not a priority of 2023-24 Union Budget ?

(1) Green growth (2) Inclusive development

(3) Export promotion (4) Infrastructure and investment

806 T3S° DB 2023-24 Bo|eS TS BE, L;)“még@o%o 57¢H?

(1) OS50 8% (2 2D D3O

(3) AbSehe e )iro . m @) STO¥ SHSe HOAD DEPA
14. Match the following pillars of NITI Aayog vx 1th their relation :

Pillar name Relation !

A. Pro-people I.  Involvement of Citizenry

B. Transparency II. Women in all as\r;iscts

C. Equality III. Opportunity for the youth

D. Participation v

. Fulfilling societal and individual aspirations

V. Respensive government
Choose the correct answer :

(1) A-II; B-III; C-V; D-I

(2) A-III; B-V; C-I; D-IV i
(3) A-I; B-IV; C-III; D-II

(4) A-IV; B-V; C-III; D-I Lo

808 B sT/rh Qozre (pillars) & e HDE 20208003, ¢3S 3¢ HSTHSW :

DO2J0 DD do20¢50 Q{é
A (DBO-0DErO L o eridrsso
B. 8588 I ) ®ored ST Fen
C. H8TSS50 ML Cods% obddo
D. S0 IV a8 Si0ash BOHES esofen F636 )00
V. @&ogo&oa’,@a&)éso
RBN AATTTR), DOTNT 0

(1) A-IT; B-III; C-V; D-I
(2) A-1II; B-V; C-I; D-IV
(3) A-I; B-IV; C-III; D-II
(4) A-IV; B-V; C-III; D-I

15.  Arrange the following deficits as % of GDP related to Union Budget 2022-23 (Budget estimates) in

descending order : B _

A. Revenue deficit (;f’z B.  Primary deficit

C. Fiscal deficit o0 D, Effective revenue deficit
Choose the correct answer : <]

(1) A,C,D, B {1 @ CD,BA

(3) B,A C.D (] @ CGABD

2022-23 (@GS evodaren) B0(S DFE SOBTOH NoWOHOD Yo BT )BS’ (806 S (deficits)
TEQ) ST (S0 @K)Jé)gsﬁ)) &

A B3y Sew B. |GE Sen

C. 18855 S'ew (fiscal deficit) D. ¥ BRI Sen

OB JEFETRY JOTHETDEN :

(1) A,C,D,B (2) C,D,B,A

(3) B,A,C,D (4) C,A,BD

~ 638
[’} (6) @e
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16. Arrange the following taxes in ascending order based on own tay

General States Average (201821 average) : TéVenue composition of India
A. State goods and services tax (SGST) B. State excise

C. Sales tax D. Motor vehicle tax

Choose the correct answer :

(1) A,B,C,D 2 C,D,B,A (3 D/AB,C 4) D,B.C A

rESTE ErSed TEre HieD D0 HA) TG (2018-21 dtiew) & & B

08 Jy e gox
SEEOIT 1§06 H0) 0 BT (F0S @IS : 5 P (campusition)

A TR SX) VSO D) (SGST) oo B Ol O30

C. ©0280 d) | D. Srerd o Hvy

QB QTPETRR), DOTHT D ‘

(1) A,B,C,D 2 C,D,BA /\’t'} 3 D,AB,C 4) D,B,C,A

17.  Which of the following statements are not_true in relation to Fiscal Responsibility and Budget
Management (FRBM) Act ? ()

A. The Act became effective from gth July, 2004.

B. This Act was notified by the government in 2002.

C. This Act stipulated the elimination of revenue deficit by 2014.

D. As per this Act, with the beginning of financial year 2006-07, the annual reduction in fiscal
deficit must be at least 0-5%.

Choose the answer :

(1) B and D only - (2) A,B,CandD

(3) B, C and D only (4) A and C only

8% 270955 B0 FES D 550 (FRBM) SEFJTR020H0D 808 59500 D 2.5)) 5% ?

& Q0 7S 5, 2004 OB e (effective)€S’s SDIOE.

& HETQ)), 28 eS (D205 50 2002 &' (HEE0DOA (notified).

2014 3850 BISTS St BH0E IrEe SHHL0S APFotHe0 36RO,

& 0 (DSB0, 2006-07 308 DOSSIBOURB0L000B, (6995 SN (fiseal deficit) S Q¥ SHcSed

S IIBM™ EAN0 0-5% T o). n

NPT, DOTDET W i

(1) B 08ai» D Srv(edad {¥(2) A, B,C8a%» D

(3) B, C 8050 D Sr(ehad (4) A DHBAD C Sr(edad

18. Which of the following statements are true in relation to 15'" Finance Commission ?

A. For horizontal devolution, income distance criterion was given more than 40% weightage.

B. For horizontal devolution, tax and fiscal efforts were given less than 3% weightage.

C. C.Rangarajan was the Chairman of this Commission.

D. The recommendations of this Commissiogigre applicable from 2022 to 2028.

Choose the correct answer : o

(1) A and B only “~(2) A,CandD only

(3) A,B,Cand D “'(4) B, CandD only

15 & €08 H0HTAE HoDOROD (808 T 5PIOS DD 259 ?

A D3F0esS D) H0DB8 H020HOD, @63‘053 B0 |D°eA8 (income distance criterion) 409 80P
DEYS (TS0 (weightage) 2a9,500 38R0

Sawp

B. J3r0s8 Hn) HoDEIE H02000D, HIY HBAW & (HADTLOK 3% 0B SpS |3rer 0
Q3580 20008 ’,;7;3‘ '

C. . 80K0S & Q8 J0500 TE) BEISIT ) 8.

D. & e85 000 Ty DTSN 2022 DO 2028 SerdE SO ow.

QN8N AR, OTDT D

(1) A DB B S(¢dad (2) A, C 00D D Sr(ehad

(3) A, B,C 80D (4) B, C B0 D Sr(edadd

R (7) - Re
. R
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19. Which of the following statements is/are true in relation to crude death rate (CDR) of I
population ?
A. During 2014-19, the crude death rate was less than 7.
B. During 2006-11, the crude death rate was more than 7.
Choose the correct answer :
(1) B only (2) Aonly (3) Neither A nor B (4) Both AandB
rESTI BT T[0E), S (crude) So8eme> Béw (CDR) £ H020B0D 1808 T 5DIOS” DA/ ) ?
A. 201419 GOS S0SE Srdee> Bew 7§08 SEFIT GOd.
B. 2006-11 &¢55 S08¥ Soderes Bew 7 508 DEIIT GOB.
$BS DETTER), DOHEDE o
M BSSD (@) Adresd (3) A 500k BTOGT 59 (4) A 83 B Bocky
20. Which. of the following statements is/are correct/in relation to the infant and neonatal mortality rates
in India as per the National Family Health Survey (NFHS)—5 (2019-21) ?
A. Infant mortality rate (IMR) decreased v%rh_én compared to National Family Health Survey
(NFHS) - 4 (2015-16).

B. Neonatal mortality rate (NNMR) decreased when compared to NFHS -4 (2015-16).
Choose the correct answer :

(1) B only (2) A only b3) NeitherAnorB  (4) BothAandB

20D sﬂae.noaa‘@b‘ﬁg QB § (NFHS)-5 (2019-21) |95°50 2% 00050 Sd25¢h 9% SHSeared BEK Ho20A0D
808 TSRO’ DO/ HDSE/D ?

A 205 $oenod esEis Q05 (NFHS) — 4 (2015-16) & &5 )05 )¢ 2% 0&eare> Bew (IMR) 06,
B. 2raaH 5000 esSKg S8 (NFHS) - 4 (2015-16) & SO I5DIH SI2eh D H&ere> Bew (NNMR)

ndia,s

it (&)
QBR ARATLTTR), OTDE DD : o _
(1) B Sr(e3h @) ASrSH f(‘:z)?t A 805 BBoGr 5% (4) A S8 B Bodkr
21. Which of the following statements are true in relation to India’s population ?

A. Sex ratio of population is expressed as numbféﬁ of females per 1000 males.

B. If sex ratio of population is more than thousanid, it is called unfavourable sex ratio.

C. The sex ratio of population in India in 2011 Sg_qs less than 1000.

Choose the correct answer : g

(1) A and C only (2) AandB only

(3) A,Band C (4) B and C only

TESTE 2T 02000 (808 FIDIOS” D 2, ? )

. 1D 1000 HOE HBDOR ) (e Howdg SrHoeS sy Ool &m%@ (sex ratio) Q SOAHFY K.

B By Dol AN Jows £0B BRI &0, AR DBEre ol AAHY @oerdy.
L7 2011 &' 2r88T5% e Oot ) 1000 0% SF0 ST GOV,

e b

MBS DSTETR), DOTDE I : &

(1) A B35 C S5 @ ASDOAB ;mig
3) A, B 8% C 4, B HBaAkw C.éJ‘L . o
22. In w}’xich of the following years was the National Population Policy annm?;;ed 21(r)1010nd1a ?
(3) 2020
(1) 2016 (2) 2014 (31 )
DESTIOS’ 2D 2Ty TR, S0O ¢3S Q'(pobégéoés Loaée?)owéa( 4?) -
(1) 2016 (2) 2014 (), 2020

23.  The tota] fertility rate (TFR) in India during 2915—16 as per the National Family Health Survey

(NFHS)-4 was nearly :

e ) Sl ) (42§ Py S5 )8 Bew (TFR)
2S0H Krenon es&g HBS (NFHS) — 4 19560 2015-16 &' ZrESTFOS INQ0 QOTIS)E .
ooy - |
(1) 1-9 2 16 3) 25 4) 22

CEAC)
£A5!

E_ (8)
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24. Whatis thé term used in national income accounting when depreciation char
country’s Gross Domestic Product ? 8ES are deducted from a

(1) Net Domestic Product (2) Net Nationa] Product

(3) National Income at constant prices (4) Real Net Domestje Prody
50 Gty e BITE)RS S0b SEMHEOW SHAMT WO a‘g
D55 HEITE? | TErEh eFosond
(1) QLS TIOH &) @ DI T &3
3) 6 ROIL) SO 2SAD emoH0 (4) lé§°€§3§ DES TR s
. : : in relation t N
25. :Z?;;:Il:e:i the following statements is/are true m ition to the concepts of personal and disposable

A. The consumption expenditure + savings of an individual is equal to disposable income of an
individual.

B. If the personal taxes are added to disposable income of an individual, we get personal income.

Choose the correct answer :

(1) B only (2 Aonly (3) NeitherAnorB  (4) BothAand B

3581565 BN H3ATY STFAD 2THION Ho20HOW Lﬁé& TSDIOS” DA/ 233 ?

A 28 558 T, DITI S50H0 + 0y @ H58 TEED5ATY SErairdS darso.

B, 558K D)0 2.8 $58 gy S50 SPoIT8 g?ﬁg Y 358168 er0H0 SN0A.

DB VAP DOTHTW 'S

(1) B 3¢5 (2) A Sy (3) 1%-*: B05» B BO&T %y .(4) A HBSSH B Bodsr
96. Who were the chairman and members of the National Income Committee set up in 1949 by the

Government of India ? 7o)

(1) P.C. Mahalanobis as the chairman and D.R. Gadgil and V.K.R.V. Rao as the members.

(2) V.K.R.V. Rao as the chairman and P.C. Mahalanobis and D.R. Gadgil as the members.

(3) Dadabhai Naoroji as the chairman and V.K.R.V. Rao and P.C. Mahalanobis as the members.
(4) D.R. Gadgil as the chairman and Dadabhai Naoroji and P.C. Mahalanobis as the members.
1949 &° 27865 DEHES 50 TN TS 2D B Ees Ty TS O DgeD DI ?

1) BELS I 22, DFOSDD HBAM D05 B.esB. FBS OO DO, T

@) TE2S ™ DIeB.D. T8 HOAD HEHEVT 2. HFOSTHD B &.eD. méS.

® TS o TEE $H008 Sehgear DTGB 075 SO bR BFOSDR

(4) T51S T A5, MBS S BT Trereron FEE HO0D D HTOSDR.

27. Which of the following is not a component of total defnand for domestic income/output ?
(1) Investment spending by business firms [
(2) Consumption spending by households ol

(¥

(3) Net borrowings from other countries

(4) Government purchases of goods and services
808 &eS" DO BR0H e3craDho/es)B Tng), ndso BaH ASTOR S 2891
(1) 5 SoPe PG 55000 )

(2) _S\)émoaro AT S50H0

(3) 2sS TFe> HoB JEY 207N

(4) (25308 50 TBEY SWeYeN HOT Wded TeAh

5D ?

IORIO)
e
R DR
3 (9)
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08, As per the second advance estimate of national income 2022-23 released by the Ministry of
" gtatistics and Programme Implementation of India, arrange the following years in ascending order
based on the share of agriculture and allied sectors in gross value added (at current prices) in each

year:

A. 2020-21 B. 2021-22 C. 2022-23

Choose the correct answer : " ;

(1) B, G, A 2) C,AB (3 ACB 4) C,B,A

25 (DS S HETr0¥ HBAW HHse eo;S)oo OB S TP DS TS BOGS S00BY AArT oD
0BT, 2022-23 (H5°80, 806 H0SSITD e Den HO0HS” S5 AD HBAW 20 Sore
T (HVS SEOS) BrrEomr 1806 H0SSITOD e 306 eI ;

A. 2020-21 B. 202122 1 . C. 2022-28
5B DITFTTR), DODEDED - L |
(1) B,C,A @) .CA By, o @) ACBE, [ 4 CBA

29. ' Arrange the following states in descending order based on per capita net state domestic product of
these states (in rupees at current prices 2011-12 series) in the year 2020-21 :

A. Maharashtra B. Gujarat C. Telangana D. Andhra Pradesh
Choose the correct answer : .
(1) C,AB,D (2) A B,D,C - (3 C,B,AD (4) B,D,A,C

1808 THEreO 2020-21 &' & Uf3Te SOHO IS TR TITrS)S (ErroHeeS O (DS SEoS
2011-12 (363) 8080 @38 (5508 908 )8 :

A IT R » B. ®z0°® C. SBoors . D. eo& @8‘5
DB DT Q), DOTDE RV o A

¥ |
(1) C,A,B,D (2) szl Dol * munid) | C,'D, 7D (40 B,D,AC

30. Which of the following statements are true in relation to national income in India ?
A. The first official estimates of national income were prepared by the Ministry of Statistics,

Programme Implementation. ; ¢
B. The first official estimates of national income were prepared with base year 1948—-49 at constant

prices.
C. The estimates of national income published in 1956 were known as the conventional series.

D. National income under the title conventional series was published till 1976.

Choose the correct answer :

(1) B and C only =2 (2) A/BandConly
(3) A, C and D only () (4 AandDonly

P ESTS ST rOr8 5020800 (B08 T5BOS” IV 2.:)?

A Bty Tncse 2SO aSh OB BE0%, HEFO ©H HOBS T ST TH0B.

B. 306 Incse3 eSO 2 BOSTT oD 0BT O 1948-49 S8 H0SBIB0E ST TFE.

C. 1956 & |HHB0DS DR[OV VAW @Oéé&f%)b) HOITO% (363 (conventional series) eQ DN ED.
D. S0dTrch 363 DS wéoﬁrwaﬁrb;il}?m;ﬁ D035 IB0 SBB (HHO0TIEI0 20R0B.

B DSF R, DOTDE W :
(1) B 2805w C Sr(edad (2) A, B X005 C Sr(eded
() A, C 8050 D dr(ehad 4) A SO D Sr(ehad

ORS

bst :,3
Ot

R (10)
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31.

32.

33.

(/]

(2) BandC o
f‘@oﬁrw(ﬁyag DO0E only <> (3) C and D only

) . imary goal of the Indian GOV
Which of the following 1s not the P;;entive level ?

Policy, which has been fixed at an in¢ A
(1) To enable the poor to buy foodgrains at Vf;}ixnlc;hepfarm set

(2) To induce more investment by tl?e farmf: G o or.

(3) To enhance production, thereby increasing : dar e},1 |
(4) To motivate farmers to adopt improved crop p €chnologieg.

85 DS 8o
808 &S 20 @Eyrs Fas AQowoBS FES LD 809 Hga 6 20 sy D E

€rnmepyp -
. Mmlmum Support Price

©% 50 (goal) 572D ? o
(1)§sé>8g(:§§\)2,35 S50 3G DS eI Q’WSQ‘EJ Sofen & _;0633&29 Wrseyo,
@) D550 Sofiod ESen 80 DDA DY Qggﬂ‘ (80860,

(3) &ID OO, S ST° EEHO @woﬁsi@laagoé 0-_5 "

(4) DTS Doty e )B AroSBESD §§sﬂ>c»§ PO 2010980,

-

Match the following List-I with List-IL: o0

List-I List-II. ]

A. Gross National Product I. Net Dome’sﬁic Product at market priceg 4 Depreciation
at market prices . i

B. Net National Product at II. Gross Dox’ne‘stlc Product at market prices — Depreciation
market prices el

C. Gross Domestic Product III. Net Natiotial Product at factor cost + Indirect taxes — Subsidies
at market prices

IV. Net National Product at market prices + Depreciation
Choose the correct answer :

(1) A-IV; B-III; C-I (2) A-IIT; B-I; C:IL (3) A-I; B-II; C-IV
808 OR-1 S @070 OP-TT S @oFOE 2SHSHIM :
OB oS
A TS $80S Fo aTEIB 1. "Dy S80S JES FETra @ + SSHHESe
B. 3508 80 OES raBre) 11 "7335’62,65 GBS e BRRrSIS - $SKSe
C. rByé5 S8 yre BITBra S I {6S)8 58570 O Bga¥s AEE 2rSTBred )B + HEE
T D0 e - D YEen '

Iv. {~ B35 38" DES 2raTWre ) + SEHS
DB DIFETTR) DOTHTHSW : -

D)
(1) A-IV; B-IIL; C-I @ AL BL CII (3) AL BIL CIV (4) AL B-IV; C-lII

Which of the following statements is/are true in relation to national income ? .
A. National income calculated with a base year is known as national income at constant prices.

B. National income estimated at current prices is not inclusive of price changes:
% gu?ng \;Var period, national income is estimated at future prices also.

- National income divided by tota] opulation o income.
Choose the correct answer : PoPtiag)" 8ives personal inc

n
(1) A only =

(4) A-L; B-IV; C-III

(4) AandDonly
0 180 TIDOS DA/DD 2,8 ?

@;0153‘33?\)4) w@oﬁygzjcﬁyal 6 S &
O I 333055‘9\‘0330, BSOS STy SrEI
L]

A 88 D058 oS

B. DS S8 e
inclusive),

C. g reoc* odctira

2 wédﬁ"@“y’al o

N8BS dSrerary DOTHE Ky - R 958K (B eseraP0 9
(1) ASrs A

0H0 ©90e3 .
éoj?i; ;)Oﬁga&l)fseg éc‘())gs(ﬁ) (not

@ A 8 D 3&3»@533
B0 C smay (z) ¢ o0 DT

E7E
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34.

35.

36,

[E | BL4E

Which of the following statements are true in connection with the production of crops in Ing;
2021-22 (Fourth Advance Estimates) ?

A. Telangana was the third largest producer of cotton in India in 202 1722.
B. Uttar Pradesh was the largest producer of total foodgrains in India in 2021-22.
C. Telangana was the largest producer of maize in India in 2021-22.

D. Madhya Pradesh was the second largest producer of wheat in India in 2021-22.
Choose the correct answer :

(1) Cand D only
(2) A, Band D only
(3) A,B,Cand D
(4) A, B and C only

2021-22 (°R5 QWO @otsaren) ¢ wééé‘%oéﬁfz’oomo &e5)88 Jo020HOD 80O TS 99
$BID ? ;

o M
Cas

2021-22 & 2rSESTF oSk I8 &S Beromre oﬁféo Qi @ NV red )BT HOR0A.

ain

o

>

B. 2021-22 S rSSB50S essyies TS red RS’ (_Tzéé DOBT 08 DY &SIV 030,
C. 2021-22 S’ e EST50S* SO0 @ 336;5_3)352,&3"%; GSIBTET G0R0A.

D. 2021-22 & er8$T 50" Fess G865 S8 Lé§§' B0%ad @D & edYBTET SOA0A.
QOB TR, JOTHE I - &5

(1) C 8w D Sr(e5

(2) A, B DOA D Sr(bo

(3) A, B, C 850D

(4) A, B 005 C Sr(¢sshH =

As per the final estimates of production of majot crops during 2022
following crops in descending order based on estimated production of the

A. Pulses , B. ‘-;'S)ilseeds

—23 in India, arrange the
given crops :

C. Maize D. ¢,.-(Iloarse cereals
Choose the correct answer : . ' 1})

(1) C,B,A,D , (2)'"D,C,A,B

(3) B,D,C, A (4);/D, B, C, A

rESTI0S 2022-23 cS‘ DS DO &es ) TnE) O eodToe D570,

8od Hoerersss (1 Hoes
O3, b )& eS0T @STTET ($006S° 88> )k :

A DY) Trargen B. &S Hozen

C. g ES)en D. . @0 Syeacrarsen
OB DIFERTR), DOTHE D : @

(1) C,B,A,D 2).:D,C,A,B

3) B,D,C, A @) p, B, C, A

In India, the total foodgrains production (in lakﬁ metric tonnes) in 2023-24 (second advance
estimates) in kharif season was estimated at about':” :

(1) 1586

@' 1481
3) 1508

(4), 1542
TOSTIoS 2023-24 (BOGBS SHOSY BOT D) PEH V23D O JAHDAS IS0 e¥E rarser

5338 (©F B|e35 er:0)0S) ST
(§)) 1586

(2) 1481
() 1508

(4) 1542

(12)
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: ith regard to dje;
.o statements is/are tﬂle,“{lt regard to digita)
g7. Which of the following ¢ enabled digital service for Pensjg

ervy .
: 1ces ip India 7
is a biometr1

Nerg,
Jeevan Pramaan 1 ]launched in 2019. R
. The Digital India Programme was Ff o
B. ) '
Choose the correct answe:'z.) ey i:_i;;) Neither A nor g
(1) B only

55 8. (4) Both a
« 808 TIWOS” DA/ 2,51 7 and B
2r8ST508 ABOS VSON H00HOW & ) 3)

<
£35 A0S ©F0 DIS TOOP IarlalNe] ,2&5%@35 BBS 2y
A. =
B, AZeS 20Aakr HESR)2019 S L:r’éoaoah.
JBN ArTT Y DOTDTRDW

543) A O
(1) BSr&D @ A NGRS e BO0ArSY @ 42008 B Bods
38. Which of the following statements are true in relation to the industria] policy

A. In India, the First Industrial Policy Resolution was announced in 1948,

B. In 1948 Industrial Policy Resolution, it was stated that arms and ammunition, atomic encrgy
; and railway transport would be the monopoly of the Central Government

C. Another industrial policy resolution was announced in 1956,
D. In the Second Industrial Policy Resolution, all industries have been classified under five
! tig

resolutions in India ?

categories. ((;? )
Choose the correct answer : :5,
(1) A, B and C only ‘3’*{2) B, C and D only
(3) A and D only <{#) A, BandD only

rESTI0S” BT WE DTS ST 2020800 (808 FEW S DD 20 ?
A PESTIOES, I0E3 JBF°WE e éc"ga“lﬁl 1948 &' D830t .

B. eaingren $H80%0 $0H0oc, ©en¥§ HO) DES Sarer JolS (eSS DETSOT GOEradd
1948 rO|F08 e BoS0sS T80 2660,

C. R08E O TS SO 1956 ¢° |HE3085¢%0 26M00.
D. oGS r0@ns Derd 8um806° HOFSHONY 063 0 SBKSenT S§Z00TE.
DS DITFTTR) AOLDE IS :

(1) A, B 500K C Sr(S$H (2) B, C 8% D TS

(3) A 580 D Srieschy (4) A, B 300 D IS

: R i tor in India as per
39. }thch of the following statements is/are cor}égt with regard to the services sector
Economy Survey 2021 - 92’9

&) rvices sector in
A. Majori d by the se
o fgritgo.of the Gross Domestic Productq;.f‘(GDp) was contribute
B. Hotels ang touris .

s m are a part of the services sector.
A nce and public administration are no

ices secto
Choose the correct answer - tl\a part of the servic
(1) Bonly @ — - (4 AandBonly
' A O‘?‘ ¢ S v, B ?
DESNE 38 5 2021 — 9o & only (3) A,BandC g0 DB/ID KBS

[~
R0 Sorrds How00D Lgo@o&oéa)&o&.

T.

(2 A ALY (

0
Ok
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40. Arrange the following crops in ascending order based on the minimum support prices (in T per
quintal) of these crops for kharif marketing season 2023-24 :

A. Jowar — hybrid B. Paddy - common C. Maize D. Ragi
Choose the correct answer :
(1) C,D, B, A (2) D,B,C,A 3) C,B,AD (4) B,C,A,D

2023-24 8D X8y ¢30f sre0S EHD aﬁxééo CSéO Brarabod (HS §sotrendy) egrdor §od
DOOOD &TTET 15065 e8> 3w : :

A, Qe -2 D& B. %8-rgrde C HET) D. oOvhen
QBN AFETTR) DOtHT DA :
1) G,D,B,A (20 D,B,C,A ,:'(‘3)CBAD 4 B,C,AD

41. Which of the following statements is/are true in relation to agriculture labour in India (as per the

Annual Periodic Labour Force Survey Report: 2021—22 and also broad industry division based on
National Industrial Classification — 2008) ?

A. Percentage of male workers in agriculture sector was less than the percentage of female
agriculture workers.

B. Around 70% of total agriculture workers were female.

Choose the correct answer : :

(1) B only (2) Aonly (3) Neither A nor B (4) Both Aand B

Q8 @30 5208 38 T § AIOE 2021-22 O 2BAD BFWE SPES — 2008 D SETEIAS DX es

JBFD DI |H5°B0, erESTF0S® S35 0% s'égé $88 020600 (806 ng,goeS‘ DO/ 8Dy, ?

A. ;55:6:\’:“033 B0K0ES’ HHA 528500 TS0 éoorv' S5O AD 5°82500 50 0T 550 I GO d.

B. Q35S 70% oS359ra% 578 50e) (workers) é)@«:,‘foa

ABN QAT DOTRT D :

(1) B Sr(ebdH (2) A SFSD - (3) A HOCK B B> 5% (4) A 08050 B Bodsy

42. Which of the following statements are true in relatlon to irrigation schemes in India ?

A. With an aim to enhance physical access gf water on farms and expand cultivable area under
assured irrigation, the Central Government launched Pradhan Mantri Krishi Sinchayee Yojana
scheme (PMKSY).

B. Har Khet Ko Pani is a major component of PMKSY.

C. Surface Minor Irrigation scheme is a sub-component of Har Khet Ko Pani.

D. PMKSY was launched by the Central Government during 2013-14.

Choose the correct answer : |

(1) A, C and D only - 5(2) CandD only

(3) A, B and C only (4) BandD only

2rESTI0S” HE3 B JHTOB H020HOND (86 TS’ I 2.3 ?

A S3FOH BrSweE a,S"’éBéon' %0y oarenes GoB DGO Ll B0 HH S DAS D3
e 8o b dRgo dJBoT oggoé‘a‘ DS 0018 &Y Voo Tresd (PMKSY) HHSR)
B0 102D 50 (rBE0D0W0A.

B. 56 HS & D IO PMKSY & 2.8 (e ar(ﬁo

C. &8 DB HE3 FEOSO DGL0, 536 BS & D Hesko & 2.8 & ariio,

D. 2013-14 & Bo(& (D20es 50 PMKSY Q (2r80D0oD0d.

DB DITEFTR), DOTDTW :
(1) A, C 38050 D Sr(ebad (2) C B0 D Sreah
(3) A, B 58050 C S (4) B 0805 D Sr(edsH
. @Y
R (14) M
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43. In the national income accounting concepts, any excess of tax revenue over government spending 1s

called :
(1) Public deficit (2) Public goods
(3) Public expenditure (4) Public saving
T ERTTOSH FT0E30R TSSO, (DS SCHO 0B @AM &) HW) THAD VDD HeVTES ?
1) DS Sew 2) DT SHew }
(3) (D23 55090 (4) DS ey
44. Match the following demographic indicators of Indla with their rates :
Demographic indicator Rate **
A. Infant Mortality Rate in 2020 1. 237
B. Birth Rate in 2020 II. 60 &
C. Death Rate in 2020 III. 28:0 |
IV. 195 .
Choose the correct answer :
(1) A-IV; B-II; C-1 (2) A-II; B-I; C-III
(3) A-III; B-IV; C-II (4) A-III; B-I; C-II
1808 2rESTH BT erIERS ArdOS ¢ B BSDETHS :
BT2TVES ) ‘ Jeév
A 2020 S 2% Hbere Ben I 237
B. 2020 &S ad7© Bew I 60
C. 2020 e Bew mL 280
V. 195 .
$BR DITETR), DOTHERS i
(1) A-IV; B-IL; C-I @ AL BI; C-III
(3) A-IIL; B-IV; C-II i1(4) AIL; B-I; C-II

|
45. As per 2011 population census, match the following states with their respective population :

Name of the State Population(in lakhs) (approximately)
A. Nagaland WL 280
B. Arunachal Pradesh II. 11
C. Mizoram III. 20
D. Meghalaya V. 14
Choose the correct answer :
(1) A-IV; B-III; C-I; D-II (2) A-II; B-I; C-IV; D-III
(3) A-L; B-II; C-IIT; DIV @) AJIL BIV; CIL DI
2011 2T BELO (D5°G0, (0O T e T°¢3 a:a'arg 235080 )ad
o510 DD 2er (©F &) (WSrehrr)
A. orerod I. 30 o
B. e@&rdS (H3F L 11
C. DET III. 20 bied
D. Soreoh V. 14 s
BB DEFTTR, JODE FAw : =
(1) A-IV; B-III; C-I; D-II (2) AL B-I; C-IV; D-III
(3) A-I; B-II; C-III; D-IV (4) A-IIL; B-IV; C-II; D-I
R ) 4
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Which of the following schemes are implemented in India to reduce population growth ?

46.

A. Accredited Social Health Activist (ASHA) scheme

B. Scheme for provision of Pregnancy Testing Kits

C. Mission Parivar Vikas

D. Clinical Outreach Teams (COT) scheme

Choose the correct answer : ‘“ -

(1) B and D only ‘_S12) A and C only

(3) A,B,Cand D ) ((31) A, C and D only
rESTHOS By DHIHGOD SHOWEIS 08 HETOS” D een Tabagrow ?
A H00D 0B FIrBE esdis SO HEEo (E'Aé;HA H5%0)

B. #6) 368 8¢Se Jorytw H¢¥0 L

C. AS H8TE ISR -

.. D. §5S eSS ¢80 (COT) H&d%o
) BB OITERTR) DOTHFS :
(1) B 8050 D Sr(ehad (2) A HOAN C ST
3) A, B,CHOG™D @) A, C 8050 D S|
47. Arrange the following states in descending order based on their population in 2011 (as per Census

2011): &

A. Bihar B. Tamil Nadu é, C. Maharashtra

D. Uttar Pradesh E. Karnataka o3

Choose the correct answer : <

(1) D,B,C,AE /(2) A,B,D,C,E

3) D,C,A B,E P\("i), E,C,D,B,A

2011 &' e0Sr OO 2T (2011 BT BEHLANSE0) BEEOMT (808 T e ©IETeE oS’
R VOVRNWE P

A D56 B. ST C. SR

D. &&d D07 E. 5ge¥

BN OB QITETTR), DOTHESS
Y (U D,B,C, A,E 2 A,B,D,C,E
p @) D,C,A,B,E @) ECDBA

48. The rate of natural ' . oy
. . population growth in India h . - )
despite an increase in absolute number of Popﬁigti :: ob\?vizgstsédlly declining since the early 1980s,

(1) The falling of birth rate was slower than death rat

(2) The falling of birth rate was faster than death raiee.

(3) The .mcrease of birth rate and death rate wapé?almo.st same
(4) The increase of birth rate was faster than dééﬁth rate -

BT S0P DS Sy e
Borr Shesr 30308, @odnis (?o i:éigé’%gfg ‘%’?aﬁo 0B r8STiosS dres sarer WS Ben

(1) D& Bey Lo TBMT 23577e> By (s

2) Ddere> Bew L0 Jxomr BT Bey ér‘ﬁc\‘:do'

) 237 Bew, Dderey B0 ooy 2.8 Z)csnonvq

4) e Bew 08 SKory BT Beéw f)éﬁéioado.

R
D (16) -533

[«

IO5dO!
o
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49. Which of the following statements is/are true in relation to the agriculture sector in India ?
A. For 2022-23, the Central Government fixed the agricultural sector credit target at around T 185
lakh crore.

B. Central Government launched income support scheme for farmers through Pradhan Mantri
Kisan Samman Nidhi in 2021.

C. Pradhan Mantri Fasal Bima Yojana (PMFBY) was launched by the Central Government to
address the problems of high premium rates of insurance for agricultural workers.

D. In 2023-24 Union Budget, around ¥ 2 lakh crore was allocated to the agriculture sector.
Choose the correct answer :

(1) Aonly (2) A andBonly

(3) C and D only (4) B and D only

2 OSTH H353A% BOTTAS H020HON 1808 T§wsoS’ DB/ 2.5 ?

A 2022-23 H0NSITVE T, ol @aﬁsé,ge Q0D 185 ©F© §'6 Eraroed S5Rrad S0l HEHS

& 0 AQONOV0A. 3
B. 2021 &S (DS D0(E SR D3 A 050‘ S0(& 125065 50 S5 CHTEE) STPAD DGR DS
(E0DOVO. <

C. Ss5TaDH 528500 DIFE D00B0D QRSP GS) (DAWODNO B DD HBNB09Erd8 Bo(d
(2929850 (DTS HHS Dy Trasd (PMFBY) HG5Q) [(°80D0D08.
D. 2023-24 0[S DFE S, 0 T 2 ©F.© FED SIICH SOTIE TeronoT .

DB DT, DO : ke
(1) ASredad (2) A HOCKH B Srv(ebad
 (3) C 5805 D S @) B SO D SrSH

50. Which of the following statements related to agncultural marketing in India are true ?
A. Electronic-National Agricultural Marketmg (e-NAM) was launched in 2016.

B. A Central sector scheme named ‘Fo(rrdnatlon and Promotion of 10,000 Farmer Producer
Organizations’ was launched in 2023. "‘14‘

C. To address the issue of transportation bf ‘agricultural produce of farmers, Government of India
launched Kisan Rath Mobile App.

N .
D. Through the Agriculture Infrastructure }und, the Central Government is providing medium term
loans only, for post-harvest market infra:s;piucture.

Choose the correct answer : o
(1) B and C only (2) A and B only
(3) A and C only (4) A, CandD only

2rEBTFOS” H330% 835033050 H0VOHOND (808 TS’ DD 2.5 ?
A, dOFAE - FASS @980 538y ¢30R (e-NAM) & 2016 & |DrS0doc .
B, ‘YVAS 908 (HInS esD 10,000 ;_3"636 ADdrsdb esdTRASY ©F ol HEhds D) 2023 &'
rS0DoT . (=)

C. égéﬁ"oﬁaa‘d)eé\) (\)O&)O&Oaé 85585@"@'1) &égéoe) Beer ,\)o{nf\)so“"» Q@d&eoéw‘gg 286
(20205 50 8RS 85 INBS TN @"éoé')o&)o&

D. 50& &r8)& (harvest) 5T seh @éroéai)ai)g B SFTOF S0 FBH, ToID (D200 S5 I0%H
TOF S9er O & 30 NSO ameu‘oéo S(HD ©oANOR.

QB DSTETRR) DOTHESDS : o2t
(1) B 000w C S(ehadd ¢ (2) A OO B Sr{edad
(3) A B3 C Jr(ehD 4) A, C B0 D S
ok
i (17) N

A
el
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51. Consider the following Assertion (A) and Reason (R) in relation to Telangana’s Overall
Performance — Composite Index Score (as per Healthy States, Progressive India, Health Index
Round-IV, 2019-20, prepared by the NITI Aayog ) :

Assertion (A) : By 2019-20, Telangana had improved its rank among liarg?r states in relation to
overall performance Composite Index Score compared with its overall performance

Composite Index Score in 2018-19.
Reason (R): In 2019-20, the overall performance Compo
around 70.
Choose the correct answer :
(1) Both (A) and (R) are true, but (R) is not the corre
(2) Both (A) and (R) are true and (R) is the correct exp
(3) (A)is false, but (R) is true.

i but (R) is false.
g;éﬁzésgfgé g).)e(‘_'éo) :fss(foaéz - FS DDE DD éoao@ofﬁ):é 1808 BoR8SED (A) DO S
(B) (2rochin (98 ot reroBods, eftisod s TFen, HBTD 2rds, ebis ird 5o - IV,

2019-20 |D5°B0) : ) 3 3 )
ée):)s‘ds:% (A): 2019-20 T°¢38, Se>orrea 2018-19 é‘;g:r&) B0 HABS X)i@:n D) B O I8
Ivdo BB DEFSD D %‘;F&\) 50200800 DY T TreS &8 07505

DEHDISHE0E. i : 3
58@0 (R):  2019-20 &' S©0rred U°(Q0 aneéo,é{%e’sd) F D) Densd &S 70.
DB DIFETTR), JOVE TAWSW : *\"l
(1) (A) S8 (R) BOKT 2,5, 5 (A) 50 (R) BT DSBE 5°C.
(2) (A) SHBA%W (R) BOL 2,0)) DB (A) 30 (R) K)G@é SEED.
(3) (A) ), 5°Q (R) 2:0)). &)
(4) (A) 2)), 5 (R) ).

site Index Score of Telangana was

ct explanation of (A).
lanation of (A).

f‘ 52. Match the following health indicators with the value of each indicator in 2019-20 in relation to
/ Telangana (as per Healthy States, Progressive India, Report on the Ranks of States and Union
Territories, Health Index Round-IV, 2019-20, prepared by the NITI Aayog) : ‘

Indicator . Indicator Value
A. Neonatal Mortality Rate (NMR) I %963
B. Under-Five Mortality Rate (USMR) IL. 1630
C. Maternal Mortality Rate (MMR) I11.~47-4
D. Institutional deliveries (%) IV 130-0
V.l"|19-0
Choose the correct answer : “’“'
(1) A-V; B-IV; C-II; D-I (2) A-I; B-1V; C-II; D-III
(3) A-V; B-III; C-I; D-II (4) A-1V; B-III; C-V; D-I

SOOTEH 020500 (§08 &8s ArDEOD, 2019-20 ¢° (HB JrOE eSS SSHSTHN (DS eT/h
SAPD TS eOMHOSDS TaFen - HETD 78S, ovaren HOOM Told IO (romreKy
NORORODY 75050 N ABOE, ebs Srd Tok - IV, 2019-20 1995°80) :

“"ID‘LDS{ ~ n‘fU’LOS";)C))J

A Sd2rd 9 SHoere Ben (NMR) ‘:) . 963

B 2% H088 yorer St §0T S0y SOHIIS’ sodere Bew (USMR) 1L 630

€. 9%8 S8ere Bey (MMR) 1 L 47-4

D. Joarxs B0 (%) \j V. 300

Y v L] V. 190
8)@‘2‘33551;(_31’\?‘;)‘1 DODE Fakokw ; "“;;
(3) AV, BIL ((33111 D? 111 2) A B-IV; C-IL; D-II

(4) A-IV; B-lII; C-V; D-I

' (18)
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53. In which of the following Telangana districts was the Crop Diversification Index Value more in
2021-22 (as per Telangana Socio Economic Outlook — 2023) ?

(1) Wanaparthy (2) Vikarabad , (3) Suryapet (4) Peddapalli

& (808 Boorn dTred, 2021-22 & 9 a%U‘eS‘ D08 BAB0 D) Dewsd IFYIT God (BLOMTE
a3l &% SoD(S0 - 2023 (HSB0) ?

(1) 3358 2) Jsoerd 3) oS @) PO

54. In which of the following districts was the total area cultlvated under paddy crop in Telangana in
2021-22 the highest ?

-

(1) Suryapet | (2) Yadadn Bhuvanagiri

(3) Karimnagar (4) leamabad

& 808 Bros, 2021-22 & Boomrns® 38 Hoe Léécs &) IS0 D NGO & BTS' O
&08? ]

1) droegeds @) ?gﬁpw@ a:ussma

(3) $8o%B @) ‘VirSrerd

Ia\

55. Which of the following statements is/are true in relation to the agriculture and allied sectors in
- Telangana (Telangana Economy, Government of Telangana, Provisional Estimates 2023) ?
A. Between 2021-22 and 2022-23, the agriculture and allied sectors achieved more than fifteen
percent year-on-year growth rate in their gross state value added (at current prices).

B. The gross state value added (at current pnces) growth rate of agriculture and allied sectors was
around 18% in 2021-22.

Choose the correct answer : - v
(1) B only (2) Aonly | (3) 'Nelther A nor B (4) BothAand B

BSOS S5ST0DH NOAM 0HV0Y Sorrerdd moao@oa 1808 T35S DB/ ) (Bworre
IS, BT (5206 30, T& OF eodTren, 2023 Lfgs'éo) ?

A. 2021-22 H8a50 2022-23 D&, 59 AD mdoiﬁ:elzé)a)oc_s Sorren 2,58 005¢5 YT°R8, e T
DN DA’ (DN GBS’ HE D TB0 0TI DBy SO oo,

B. 2021-22 & S350% S8 @20 Borre n{I"J) TR Denss B0 (B BSOS 53O Bex
AT 18% m° &OO. [0y

HBS DISFETR), DOTHTRL : i
(1) B Ir&d - 2) A SreSD (3) A8 BToSrsey (4) A B0 B Bodky

56. Which of the following statements is/are correct with regard to the Rythu Bima scheme that was
introduced in 2018 by the Telangana Government ?
A. The age group of farmers eligible to enrol under the scheme is 21 years and above.
B. The insured amount is ¥ 5 lakhs.
C. The scheme is applicable to the farmers who have.up to 10 acres of agricultural land.
Choose the correct answer : ()
(1) A and C only (2) A Band C
(3) A and B only (4) B only
2018 & Beoorre (HEDS0 (HFIDES Bk D HEHFIE H02050D §08 F§wsOS’ DB/ 2 ?
A. & 5650 808 ST SHETAE 0@, S3SANETHO HAD) 21 DOSSIT"ED HOAD @0 ¥oby
228 Gomd. I ;
B. D Zwo T 5 ofew.

C. 10 Q¥T°e o580 95”0 7N ¥R ) égéi}‘oﬁowdooé\) &2 DPEO SN0,

QBN NSFEFTR), DOV TABWLD :
(1) A HBa5 C S7(ehad (2) A, B0aA™ C
(3) A HBCH B Sr(ehad 4) B 3w
R - | (19) ?i‘«f
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57.. Which of the following statements related to area under different crops as percentage of gross sown
area (in Vanakalam 2021-22) in Telangana (as per Telangana Socio Economic Outlook—2023) are
true ?

A. The area under paddy was more than 40%.
B. The area under cotton was more than 30%.
C. The area under maize was more than 8%.

D. The area under soyabean was less than 3%.

Choose the correct answer :
(1) B and C only 8 (2) A, CandD only

(3) A,B,Cand D ‘:\ (4) A, BandD only )
Boomm FIrEE 6 SopdS0 - 2023.(9560) Swornd’ (2021-22 FTTTOOS) Jreor IST e
& 50200000 (808 F§OS” DD 2. ?

T3 VFOS’ DA Hore 180 &) DVGo FE
A 30 508 180 &) AVFO0 40% ST JFy ST GOB.
B. 58 506 808 &) DAFO 30% S0 ForSne 508,

C. DEER) D0 (80 &) IVF0 8% F0T F I GOO.
D. 05 D%y D0 08 &) DRFO 3% L0 SRS &0B.

DB DITFERR), DOV TSNS : o
(1) B 80k C S 2) A, C 0350 D S(ebhed
(3) A, B,C 8w D - (49 ABSOA™D RGN

58. Which of the following statements is/are true in relation to Rythu Bandhu scheme in Telangana ?

‘ A. Rythu Bandhu (Investment Support) scheme was launched in the year 2019.
! B. Under this scheme, initially an amount of ¥ 12,000 per acre, per year was given to owners of

lands. )
Choose the correct answer : -
(1) B only (2) Aonly "ﬁf‘ (3) Neither A nor B (4) , Both A and B
B0’ B 0D DHSRE Ho0B0TIE0A T3PS’ IO/ 2,3 ?
T’\ A. D 206 (DEPDE HG&)) HEFO 2019850581508 (R E0DOTDAR0B.
S B. & J6%0 (808, [@502506 257 AD2STHOK (DS HFTED, (DS DOSSIB0 T 12,000 255E0
/ 26R00. ; >
QBN ATV, DOTDT RV : [;l .
(1) B Sr(ead 2 ASTSD ::; (3) A DOAM B BOGF 5%y (4) A HB3S» B Bodsr

59.  As per the All India Report on Agricultural Census 2015-16, which of the following statements are
true in relation to irrigated area in 2015-16 in Telangana ?
A. The gross irrigated area was around 19-59 lakh hectares.
B. The gross unirrigated area was more than the gross irrigated area.
C. The net irrigated area was more than 75% of the gross irrigated area.
D. The net irrigated area was more than the gross unirrigated area.

X Choose the correct answer : 5%
) g) A, B and C only © (2) B, CandD only
/ ) A, Cand D only (4) B and D only

;%\1)5—16 :‘s,ggsajvoﬁa BE 0% éoao@o&@'fieé QOACST JIOE 1D5°G0, 2015-16 ' S omresS D
VTR fooaoc%oi) 1808 TmsseS’ D %)y ? ‘
O T NP0 08D 19:59 e e TFbenrr ¢od.
%;‘;J%T av?es‘ B 2o, re> a»m;:zf’ggo $0D) QLI SOA.
e mm) g;ggo, o At DGO’ T5% 0B oy od.
ol 20, oI FHES B DN
83@2 OITTTRY 0D TSy - FREOSOE AR 0,
3) A, g igé?ﬁ g m'@& ) BO0ah DT
’ S (4) B SO0 D S

i B
' (20) (DR

Cowp
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60. Consider the following Assertion (A) and Reason (R) (as per Telangana Socio Economic
Outlook — 2023) : :

Assertion (A) : '(I‘lze total tgrovivth)ratc‘ara (?2f2grzo§s& state value added of agriculture sector in Telangana
at current prices) in —23 (provisional advance estimat. 16 t.
Reason (R):  The total growth rate of imate) was 16 percen

T i i gross state value added of agriculture sector in Telangana
(at current prices) in 202122 (provisional estimate) was more than 9 percent.
Choose the correct answer :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false.

(B0TrE 338 e SNPAS0 - 2023 (H5°E0), (B0B B9dEB (A) OGS SO, (R) DOHEI0T0W :

SPI8T(A): 2022-23 (Eo3O8 0B BOST) & Boomrns’ $550H Sofio T, e TR
NI SA0Y T, (VS HSOS") Indo S8 Bew 16 TSOT &0,

2021-22 S’ (527, OF ©0oST BOOME SESRraH S0H0 BE) re> T Dens HA0Y

TR, (DN SSOS) INBO IO Bew 9 TS0 L0 E0ST &0S.

3B DIFTTR), DOTDETS ; F

(1) (A) 5605 (R) Do 2.5, 5 (A) % (R) 58T D8ea 5.

(2) (A) DB (R) BOKT 2,2 SHOCE (A) Ko (R) HO@S D3¢,

3) (A) 33, T R) 2. L ol

@) (A) 23, 5 (R) $9). L

5080 (R):

61. Arrange the following years in ascending order based on the contribution of agriculture sector (as
percentage) to gross state value added (GSVA) of Telangana at current prices in each of the given
years, as per Telangana Socio Economic Outlook — 2023 :

A. 2019-20 (Second Revised Estimate) B. 2020-21 (First Revised Estimate)

C. 2021-22 (Provisional Estimate) D. 2022-23 (Provisional Advance Estimate)

Choose the correct answer :

(1) A,D,C,B (2) B,C,D,A (3 A,B,CD 4 ACB,D

SO0 378 e S0 (S0 - 2023 (H5°EY; (S0 QoS yoresS (DS S8’ Boomrn re o
NS DAY (GSVA) & S55°0% oo J&I&;(??éoé‘ ) e80T (808 D0SSITOD 8T 1500S
€980 ) : f‘*‘ _

A, 2019-20 (B0 DSBODS LOI) TUB. T 2020-21 (S0 SS00DS ©@0ST)

C. 2021-22 (e O8 ©@oda) <D, 2022-23 (&8 OF SHOSRY ©OUS)

QB DITETTR), DODE T : e

(1) A,D,C,B (2) B,C,D,A “'(3) A,B,C,D 4) A,C,B,D

62. Which of the following pairs related to size class of land holdings (acres) and the percentage of each
size class of land holding in total land holdings in Telangana in 2015-16 (as per the data provided in
Telangana State Statistical Abstract — 2022)bz'ire correctly matched ?

A. Marginal holdings : Around 69% -
B. Small holdings : Around 24%
C. Medium holdings : Around 7%
D. Large holdings : Less than 1%
Choose the correct pairs :
(1) A, B and D only (2) A, B and C only
(3) B and D only (4) CandD only
@oorre o1 TEVES 5| § — 2022 Siadwdd sTodo W5do) 2015-16 & Bwomrnds
Eridee 8668 (MT0S) HOMM InBo Frshmred’ (D8 LrEDB0 SEKS TEIL H0OBONS
1806 2SS A HOMT 2eTobardron 7 | '
A &IOS EDTED ;ST 69% o9
B. Q) &dheren b Q0SS 24% <
C. DHBEO ESreren : QSTSd 7%
D. 2 EQeren D 1% 50T oy !
QB 2SO JONE TS : { '
(1) A, B 00w D S5 cA(2) A, B 00 C srebah
(3) B 8050 D &Sr(@3d @) CDBAM D S
R

(21) e

O
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63.. Which of the following statements is/are true in relation to Information Tichnology/ Information
Technology Enabled Services (IT/ITES) initiatives.of Telangana Governmen't. : i t
A. Through the growth in dispersion (GRID) pohcy,-th? government provides specxab 1é1cu1 ives to
the companies that expand or set up their units within the wgstem part of Hy(?era. ad. o

B. The Government of Telangana released its second Information and Communication Technology
(ICT) Policy in 2021 to provide various incentives to I'T/ITES industry.

se the correct answer :

8};0}; c():ntlye (2) Aonly (3) Neither Anor B (4) Both A ind B

SO0 TR (D2HeSto W0 ébs‘t:;é TOSBES / STl oS8 es0eh S (IT/ITES)

S O8O QODOHON (08 T §IOS” A/ 205 ? 5

A. bée)@ A3 (dispersior&) QS0 (GRID  policy) e $O7, 3_3’650‘23"5 D)0 [FrossoeS’ ANB0T S
QT"IED TR DOPOI (D2 50 (DS3E |PFer)Tsren @odNOB.

B. Qrird roBBES/OSrard FoSRES errds D0 DBFDE NG T ITEeN 0B0HErDE
SO0 (DZDS 30 BOBS DTrTrd HBA ErdTAS F0TBES (ICT) ). 2021 ¥ De&rved

3?\)0(5. :;
QBN AIAPETITR), DOTDT DX : Py
(1) B & (2) ASrSD 8)) ADHOAN BBOUr sy (4) A O B Boky

64. Which of the following statements are true in rellé“gion to tourism circuits in Telangana ?
A. Bogatha Waterfalls are a part of tribal circulggﬁ \
B. Akka Mahadevi Caves are a part of heritage':c‘,';}'cuit.
C. Somasila Reservoir is a part of eco-tourism circuit.
D. Mallur is a part of green tourism circuit.
Choose the correct answer :
(1) B,Cand Donly - (2) Aand D only
(3) A,B,Cand D ' (4) Aand C only
BOOrRsS” HTm5¥ (HBTX (circuits) Q000D (808 5SS’ D 2.5 2
A TS BOTT 0 A8 (HBHO (circuit) & 2.8 230, :
B. %) DETD DIren 608 5 (DTF0 (cireuit) &% 2.€ 7o,
C. &FHBO BerIaHO HTSSE-HT e (BF06S" (circuit) 2,8 2350,
D. 206 ir0e 5075698 HTHO (cireuit) &° 2.8 230

RBY DSFERTR) 0N Dabody : %
(1) B, C 5805 D S5 @) A DB D S5
\ (3) A,B,C 8a5» D @ ADBAD C Sr(es5H
; 5. Which of the following statements is/are true inmrelation i
y atite il s depres Mo (I;e 1;1 S;ﬁtmn to t};]e share (%) of .sgcondary .sector in gross
Governmont of Telangans) o p ol angana Kconomy, Provisional Estimates — 2023,

A. The share of seconda : <2
: ry sector in GSVA P ) _
2022-23 (provisional estimatos) of Telangana was less thag 20% (at current prices) in

B. The share of s .
estimate) vs(r)asS (le:s: 31?31 ?:: f:;fam -GSVA of Telangana (at current prices) in 2021-22 (first revised
Choose the correct ansyer : rein GSVA (at current prices) of Telangana in 2018-19.

(i) B only (2) Aonly
(S00orre es¥ 53D, TE) O BOVT*eN ~ 2093

o2 dends v
2.3 ? (GSVA) ot0Hes* BIBAD oK

(3) Neither A nor B (4) Both A and B

SO 132068 50 (05°80) Berorren T Q0 TwE) re>

6&35?9‘3, TE” (%) § D0D0HON 1808 Tr§wOS’ DA /DD

&8 e90Sa b & v v

B o 20% (50 e §ogfg)§§f:"zogta}9 Q) Yo o7 DenS A0S & BAH Soko
- 202122 & (Zyye9e3 D3600S 0o o

S0 & 6805 50150 améy: 2018‘?;3))6 SO0 o7 N0 BE) F'e TR Dewd B0 (DO

i ééi B389 Soro T S0 S0 S5 &0 @Qf?n‘ea 072 T30E e DENS DAY (HNS SSeres)
VLN VAT QO ErS) - o
(1) B Sra3 ‘ '

] (3 A 26050 BOOAT S (4) A 590050 B Bockr

s
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66. Arrange the following schemes implemented by the Telangang Government in chronological order as
per their launching months and years : .

A. Dharani Portal
B. Telangana Fiber Grid
C. TS-bPASS

D. Mahatma Jyotiba Phule Telangana Backward Classes Welfare Residential Educational
Institutions Society _ .

E. Women Entrepreneurs Hub
Choose the correct answer :

s e g (2 B.D,ECA ().CBD,EA 4) D,B,E,A,C

SOOTH DHDSI0 G TIS 1800 HPFODT TG (FE0HODS Ferew, HoSSIT® (HFE0
SOESTOTEOT @S0 ®)

A O83 &PS ofs

B. 800 20 (A& <1

C. €dR-AJD (TS-bPASS)

D. 535 2582 58 Boome SHE0AS S86E6 L0 5 BRBIHS Dars HoPe> S2eS

E. re” &O50Te T8 (]

DB AITPTTR) DOVE TASD o :

(1) D,E,A,C, B (2) B,D,E,C,A (3)¢C,B,D,E, A 4) D,B,E,A,C

67. Which of the following statements are true in relation to power sector in Telangana in 2021-22 (as

per Telangana Socio Economic Outlook — 2023) ?

A. The installed capacity of power in Telangana was around eighteen thousand megawatt (MW).
B. In the total installed capacity of power, the thermal energy share was more than 50%.

C. The nuclear energy installed capacity accounts for about 1% of total installed capacity of power.

D. The per capita availability of power was more than three thousand kilowatt hours (kWh).
Choose the correct answer :

“@
(1) A;B and C only (2)‘:’:2& and D only
(3) A,B,Cand D (4)©B, C and D only

2021-22 H0S538065° Be0rren VNS S0TRE HoGHOD (808 TEOS’ DY 25)) (BOOMTE FrSr2E
98 SV 0 — 2023 (DSV0) ?

A. B0 NS T rPePI0 DXFEIT HFADO Be> DT (MW) G08.

B. 30B0 XIS FDeS 0508, $SIS ddE ek 50% 0T BT G506,

C. B0 JgB T eh P50, OEMAIS (nucledr energy) "¢ 0PSO T AT 1% ™ &o0.
D. $038 DS 2558 e S §S°a ¢S Koo (kWh) S0 DE0Y ST G0&.

DB AITETTR), DO TTOSAW &3
(1) A, B 8050 C Sr(edad (2) A DNBAN D Ar(edsd
(3) A,B,C8a%» D (4) B, C D805 D &r(edad

68. Arrange the following in chronological order based on year of launching/setting up of these
schemes/academies in Telangana :

A. Amma Vodi Scheme
B. Scheme for Adolescent Girls
C. Tholi Mettu / First Step Scheme ~Q

T

D. Telangana Academy for Skill and Knowledge (’]EZAﬁK)
Choose the correct answer : =

(1) B,A,C,D (2) D,B,A,C (3)“B, D, A, C (4) A,D,C,B

BOOTRS” 1§08 He5er/eo5 BN [ E020/DTm ) TS H0SSIE0 eS0T aedd SISTEINUAITS otolas
€981 Y3 : e

A @28 Hdo N

B. T308 O3S ersy erdEe TE% HedEo L]

C. SO ey/Incses eochorh HESEo ol

D. S50 850 27750 G5 BOomre erseesy (Téék)
Q0N AT, J0DE TS

(1) B,A,C,D (2) D,B,A,C (3) B,D,AC (4) A,D,C,B

(23) ON(D
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et) of Telangana state in 2014-15 wag arounq

69. The total principal + interest burden (within budg partment, Government of Telangang,.

per Telangana State Finances — White Paper, Finance De

(1) T 4 thousand crores (2) T13 thousand crores

(3) T 10 thousand crores 4) T7 thousand crores

2014-15 & BOTe T IS0 elen + S To PFE SHL) TTRY (BOOTD TR dFey 15

(50, IS D2riio, BOME (e S0 (DSG0) i3 '

(1) 743 e by @ w1330 SO

(3) 710 Jo> S wt @) TTIOEER

70. Which of the following is/are correct with- 'r‘egard to Telangana’s industry and service sectors i,

2022-23 Provisional Estimates (as per Telé}igana Economy, Government of Telangana, Provisional

Estimates, 2023) ? - e

Assertion (A) : Industry and service sectdrs in Telangana together accounted for around 80
gross state value added (at édrrent prices). _

Reason (R):  Manufacturing (a sub-secto':f%f industry) alone accounted for more than 10% of gross
state value added (at current prices) in Telangana.

Choose the correct answer : ‘ _

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true. i
€’
(4) (A) is true, but (R) is false. @)

(BOOTE ISR, BOOMTED (D80¢8 50, 2023 @) OF OV (D5°80), 2022-23 &) O¥ WodToS
BOOME HBFHE HOAN VT EOTOE HoROHON (§08 T3S DB/ 2 ?

(OIS (4): Borre e TR e Qﬁo@é‘ (DS BB XIS 80% DOIF HOAKW Dy
S0 & LT SR YO D: \w |

500 (R):  S0mre e TOfla densd ggbo@ (DD SEOES) & 10% K0T J¥0pST 2.8y SAsrd
010 (HOFad Ty &B00) 0T SDY0S.

DB DSTETI0 DOTHE DA :

(1) (A) HBAW (R) BOLT 2,53, S°R (A) 50 (R) OB DIE€d 5.

(2) (A) 0OASW (R) DO 255)) O (A) B0 (R) DOT0eS DSSeD.

(3) (A) ), 5°Q (R) 2ua)).

4) (A) 2D, 5 (R) &)

71.  As per Telangana Socio Economic Outlook-2023, Telangana’s own tax revenue as a percentagt

(2018-21 average) of its gross state domestic'product (GSDP) was

(1) Less than one-tenth of GSDP

(2) One-fourth of GSDP o

(3) One-fifth of GSDP “
(4) More than one-third of GSDP &M .

0}

\ &
SOOTe Fdress es Lo DSo- 2023 D530, Beomre e o7l BI0H eses)BS (GSDP) $S 0
D) TG TS0 (2018-21 D) : o3 ;

(1) o o BIoH &b )BS’ 1710 S S0 6%, 503,65
(2) P oD BIAH &SRS’ 1/4 S 306k

3) Qe T BRoH &5 I1RS’ 1/5 & 306k

4) WO oD BIH &e)BS° 1/3 & Sos €oty %08

(24)
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72. Which of the following statements are true in relation to m
year 2010-11?
A. In Adilabad district, marginal holdings accounted for around 50% of total hold;
B. The proportion of marginal holdings in total holdings in Medak district was ar;i%ii 60%

C. With respect to more than half of the districts (excluding Hyd . .
constituted more than 50% of total holdings. g Hyderabad), the marginal holdings

D. For Telangana as a whole, marginal holdings
Choose the correct answer :

(1) B and C only (2) A, CandD only

(3) A, B, ng’ad D;()“ < » (4) A and D only

2010-11 QOXS YT D BOOMTEIS' &ar0es L8 D020 ‘ e 2 i

A 800rd BT, IS0 EHTOS’ G0 EEren HSrds %ﬁ:&gzggﬁ $06 D21

B. DEE BLS, IS0 EHTOS 0 DT 0TS0 081 60% - God

C. Mo S0 K0S B HOVOHON (FFATErE WIFW0D) B0 EMEed Gros LHeren

arginal holdings in Telangana for the

accounted for more than 60% of total holdings.

50% S0T) B0 &) oW, “ O
D. 800 INBO S, IS0 e ereS” Garos Edveren 60% Lo QBOY ST ™) Q.
DB DIPETTRY, JODE AW : A
_ (1) B80S C S| TT (@) A C 805 D S
(3) A, B,C H8A» D @) A8 D S

78. Arrange the following in ascending ordérlbased on the area under use as percentage of total
geographical area of Telangana in 2013-14 g

A. Forest land -+ B. Land put to non-agricultural uses
C. Barren and uncultivable land ¢~ D. Current fallow land

Choose the correct answer :

(1) C,A,B,D (2) AB,C,D 3) C,B,D,A 4) B,A,D,C

2013-14 S Beorrs TBwE) IVS0 FTHVE IGoS’ (808 3D GITrHo 1808 &) DRPO TS0
SO ST TET (006" 9080 W

A ©& B &6 B, 333rahesd DIET (§08 &) e
C. 2025 SO0 SISO TrHgo A TR D (DS D 2578

DB DIFTRY, JOVE DAV : >

(1) C,A,B,D @, A B CD “® [38) CB,DA 4 B,AD,C

-

74. Which of the following statements are true'in relation to the structural composition of gross state
domestic product (GSDP) (at constant pﬁ_@es) of Telangana prior to its formation as Telangana
state ? 1
A. In the year 2000-01, the share of agrici]jliure sector was less than 20 percent of GSDP.
B. In the year 2008-09, the share of agriculture in GSDP was less than 15%.
C. In 2003-04, the share of industrial sector in GSDP was more than 25%.
D. During 2002-03 to 2009-10, the services sector share in GSDP was more than 50%.
Choose the correct answer :
(1) B, C and D only (2) CandD only
(3) A and C only .2 (4) AandD only .
BOOTD T (RO @ISB0BETIE SN0\ BOOMeD Ty W T BRABrSIB (VS S
QTET S E57% )50 H02080D (808 TS D 2.5) ?
2000-01 H0ISIE0ES'; {re> o7 BITrSIES' S5rra% Gofio er 20 730 S8 S80I 0L,
2008-09 085838065, o> oo BITrSIBS S350 Soffo Fer 15 TS0 50T BK ST GOB.
. 2003-04 H0%5& 50, Jre> o) TITreS B FB|FE BOH0 TET 25 TS0 EOB VST GO,

2002-03 00 2009-10 OO, o TH TFITres @S’ Dar doffo e 50 TS0 $0B ¥y
G0, v B

BB DATETDY, DODE TS - K
(1) B, C 005 D Sr(esh 2) C SBakw D Sr(ehad

(3) A SO C ST (4) A B0 D SHSD

oow>
£ G AN N P T 3 P

D1 |
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75. Consider the following Assertion (A) and Reason (R) :

' - Giri Vi ' is ai t providing irrigation facilities to the
Assertion (A) : Giri Vikasam scheme in Telangana is aimed a g . :
e fallow and uncultivable agricultural lands of small and marginal scheduled tribe
farmers.

Reason (R):  Giri Poshana scheme in Telangana is aimed at addressing the needs of scheduled
tribe farmers for sustainable agricultural development.

Choose the correct answer :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false. e

1806 BaDE8e (A) B SEED), (R) HBALIotsd

B9 HSe (A) : Boorns' NEFES SKed ToAS DP) DO rar0S SISV ADTrtde D HBA
FHH W0 TR SSTCH  ATSOL A3 EE50 FO0TWohE GFIoDST A
JsN0 DHEo.

5000 (R):  Boomrnd udr;® 8o SodS 265:63"@ PEE DPE ST @B SIT O
B3 )e7V8 SHIODIT AB &0 HSHFO. |

5B DITETIRY DOTHELL &3

(1) (A) B (R) BOKT 2u0)), 5%V (A) B0 (R) DO ddBE 5°C.
(2) (A) DO (R) BOLKT 2,8))) s0OAW (A) 0 (R) 0O D388€3.

(3) (A) &), 5°Q (R) o).
(4) (A) 2D, 5°Q (R) &)).

76. Match the following sectors/departments with pro}g;sed expenditure to these sectors/departments in

vote on account budget for the financial year 202:%{;'_—'_;25 of Telangana state (as per Telangana state
vote on account budget for the financial year 2024-25) :

Name of the Sector ! Department Proﬁ:oged Expenditure (in ¥ crores)
A. Information technology I. <40,080
B. Industries II. | 19,746
C. Agriculture 111.57;74

D. Panchayat raj and rural development V. 2,543

Choose the correct answer :

(1) A-IV; B-I; C-II; D-III (2) A-III; B-IV; C-I; D-1I
(3) A-I; B-II; C-III; D-IV (4) A-lII; B-IV; C-II; D-I

$0d Borod/errod Boors TR 48 eS ©F08 2FE 2024-25 ©0% H0OSeb B0
Yoo @
SOTOR/QerTesy TIN (HDBTOS S50D0SE 2SHSESSn (202425 edE i AR

dorio/dertio DHeh

(SEFGeS S5ab0 (6% crrapes’

A J3rTS FoTREes L 40,080
B. 8135 . 19,746
C. S55Rr0H0 L 774"
D. S0TCHE 02 H6G (MOTDI9D 1V, 254
OB DITETTDY DOTHEDRD L

I

1) A-IV: B.I: . 0
ES; A?]’B B-I; C-II; D-IIT (2) AT, B-IV; C-I; D-TI
= BIL CIIL; D-1v (4)  A-II; B-IV; CIL; D-I

b

(26) Ol
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77. Which of the following statements are not true in relation to tax to Gross State Domestic
Product (GSDP) ratio (% and 2018-21 average) in Telangana, as per Telangana Socio Economic
Outlook — 2023 ?

A. Sales tax revenue to GSDP ratio was more than 3%.

B. State excise revenue to GSDP ratio was less thgp 2%.

C. Motor vehicle tax revenue to GSDP ratio was lﬁ@)re than 4%.

D. State goods and services tax (SGST) revenue to GSDP ratio was more than 6%.

Choose the answer :- )
(1) B and D only (2);’:] A, B and C only
(3) B, C and D only (4)-, A, C and D only

B0 FSrSs eds SPD(S0 - 2023 (HSEO0, Bl OreeS H)% SHOAL Jre TR TITres 1B
(GSDP) D) (% 08050 2018-21 Hfew) & éozao@{)ﬁ;_ 1808 &rsps0S DD 2.5 570 ?

A ©IEY D) TAE e (P BITrSIBE &5 8IS 3% 08 K02 S,

B. O Q5)& TA8 e 07 BT )88 <0655 AN 2% S0 80,5,

C. rerdd TTTO HD) T0AE We T BITrS B8 ¢55 DB 4% E0 DS,

D. TR S VIO D) TaB8 re> o7 BITreh )BE 655 D) 6% E0B> &S,

DIFETTR) DOVE TODSW
(1) B 0% D Sv(ebad (2) A, B OO0 C Sr(ehsd
(3) B, C 8050 D S5 | (453~ A, C 805 D Ses3h
78. Which of the following state taxes is not subsume%f%n goods and services tax (GST) ?
(1) Service tax _ (2% State value added tax ‘
(3) Taxes on advertisements (4) “Luxury tax
1808 T7(R DS TR SN DI D) &S (GST)%?.)K")O&E?C& (not subsumed) ?
1) DS H8) (2{_@-—:i TR DS HO0Y DY
(3) (DZLOIOR D) (4)2 e (luxury) Da)

79. Which of the following statements are true in relation to public expenditure in Telangana (2018-21
average) as per Telangana Socio Economic Outlook — 2023 ?
A. Development expenditure was 88% of total expenditure.
B. Non-development expenditure was around 22% of total expenditure.
C. Per capita development expenditure was less than thirty thousand crore rupees.
D. The revenue expenditure was more than 80% 8{3 total expenditure.

Choose the correct answer : =)
(1) A and B only (2)2)B, C and D only
(3) A,B,Cand D (4)%C and D only

SO0 38 e SDA(S0 - 2023 @96’6_] BeornsS (DEHss S5oirds (2018-21 Sifew)
0200 808 & §PS’ DY 2y ? O

A. BnS0 S5000S° @EBYE S50 88% 1T &0S, r -'
B. 30%0 $500065° 0DSyFesd $350%H0 T 22%.TF GOB.
C. S8 ©DIYE I35000 2R) Fe> §& drarahesEots S8y ST &ob.
D. 30&0o I5000S BI&rs 550590 80% Loty B0 ST SO,

OB SITFTTR) J0DE TS -
(1) A 5805 B S (2) B,C 580w D SHSD
(3) A, B, C 580% D (4) C B D SIS
R B

(27) S
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to the composition of expeng;;

relation for 2024-25 ? re jy

dget of Telangana
]akh crore rupees.
thousand crore rupees.

80. Which of the following statements is/are true in
Telangana for 2024-25 as per the vote on account bu 83.

A. The estimated revenue expenditure is more than e

B. The estimated capital expenditure is less than thirty

Choose the correct answer :

(1) Bonly (@ A only

(8) Neither A nor B © (4) BothA and B P

2024-25 S0 L8 8 oo 2FE L:a'é’féo, 2024-25 § HOOHOD SO PO S

D020HON 808 s seeS’ DB/ 2.y, ?

A ©OBT FoHnAS TBLrS $5000 Botk G¥e 5 Erarahe S0 5.
B. e0cSh S000dS Sireds $5000 svph o § raraho 0B S50,
QBN SXTETTRV), DOTHTSW : r 84.
(1) B 3w @) A Sy
(3) A B B Doy 525 (4 A OO B Doy
81. Which of the following statements is/are true in relation to Mahalakshmi scheme in Telangana ?
A. This scheme was launched by the Telangana Government in January 2024.

B. Women can travel in all state-run buses at free of cost. B
Choose the correct answer : o

(1) B only ' (9)

(2) Aonly ol
(3) Neither A nor B A
(4) Both A and B ";-9 86.
BoorRs LT HHTOE H020H0D 80d 55:}5306‘ O/ ) ?

A & DEER) BOOME (D20 50 2830 2024 & 1°30D0D0A,

B. @) 020§ 20063 Sereen én‘:)éor%i:)oﬁrmo BOHSDY,.

N0 DTETTR), OTDT D :

(1) B &r(essd

(2) A S5

(3) A DBAW B BO 5769

(4) A B0 B Bodksr

. 87.
82. Which of the following statements is corr twi né
Government ? 9 ec{{ glth regard to the Aasara Pension Scheme of Telang?
(1) With effect from July 2023, the amount-’W'as enh '

’ W anced to ¥ - )
(2) It was introduced in 2014 in Karimnagal““'district 402 S disskisd pesans
(3) Toddy tappers were paid @ ¥ 3,016 from 2020_g

(4) The amount was enhanced in 2020-21 t‘b;% 2,516 for

] beedi work
SO0 (DN § SO0 DRS DO 20BOBGN o orkers.

8S* & ‘
(1) 28 2023 208G DHS TR DEToMesSs = 4,16 s OIS &g IS ? !
o O
@) & DS 860316 2SS’ 201465 S0 Do, o,
(3) 2020-21 HOG Sefies s*85v ¥ 3,016 S

(
I Foey
(4) 2020-21 & IS ITQ) DE 808 2 9 &.

016 =
8 Do, y IE]

(28) 5
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83. Which of the following statements is/are true in relation to Telangana economy ?

A. For the year 2013-14, the growth rate of gross state domestic product (GSDP) at constant
(2004-05) prices was around 5:55% (provisional estimates).

B. For the year 2013-14 (provisional estimates), services sector registered more than 7% growth

rate.
Choose the correct answer :
(1) B only : (2) Aonly -0 (3) NeitherAnorB  (4) BothA and B

BOOME 60 S535980 DOROHON §08 F§WOS’ DO/ 2.5y ?

A. 2013-14 J03SJoS D, P& SS' (2004-05) Fre> o3 BITres 1 (GSDP) 598 Ben ST
5:55% (&, O8 @odvren) r &od.

B. 2013-14 S0ISI0R8 0, (873O8 @OUTED) VI S0K0 7% E0 oy 590 Bensdy SITCH
T0A.

3B BEFTTR) DoSHTS ¢

(1) BIr@d - @ ASSDH | | 3) ASOCHBBOGT S (4) A BN B BOST

84. Based on per capita district domestic prd}}‘f‘lct (at constant 2004—05 prices) for the year 2012-13,

which of the following districts in Telangana was identified as one of the poorest districts ?

(1) Medak (2) Karimnagar (3) Rangareddy (4) Nizamabad -

2012-13 QOIS TV H0D0HOD (2004-05 VS BHBOS") 08 Ber BITres )& eS0T BOMmSD
1808 BTOS’ J LD 08 D BT’ 2,83 HOOSE0 2BACE ?

(1) XSS 2) ¥bosib (3) Sorrdd @) dzsrerd

The Human Development Index (HDI) value and rank of Telangana among the states in India in
2011-12 were respectively :
(1) 0-51 and 10 (2) 062and3 5-?" (3) 0-56 and 11 (4) 0445 and 13
2011-12 & 2r3S$B50S° oo arexss’ BOOMED) Ty SrdS @38 JrdE (HDD Dend H0a» o508
SBT : | o | |
£
(1) 0-51 B 10 (2) 062 N8 3‘%‘ (8) 0-56 HOASW 11 (4) 0-45 HOASW 13
86. "

as ‘Dar Commission’) appointed ? S
(1) Both Houses of the Parliament ™
(2) States Reorganisation Committee :""
(3) Standing Committee of the Parliament. .

(4) Draftig% Committee of the ConstituentyA;ssembly

808 TS B JFERV © SGEOMT, 7ar (HONE EWAS (38 ENIAS @ @0Erdd) & JCHWOIE0
200087

(1) E0eNS’ Both Hsen

(2) TUare HSB H550E8e Ees

(3) G0t FroSoh Ees

(4) T2501 HOXE (Constituent Assembly) St EQnes

Which of the following statements is/are trie in relation to per capita income of Telangana ?

A. Thg per capita income of Telangana at/cirrent prices has shown an increasing trend during the
period 2004-05 to 2013-14.

B. The per capita income of Telangana a{t&:‘; onstant prices (200405 prices) in 2013-14 was more
than fifty-five thousand rupees. < T :

Choose the correct answer : /,..."
(1) B only (2) Aonly A (3) Neither AnorB  (4) Both AandB

SO0 SONB ecrAirdE H020800) 1808 a‘-ga)goé‘ DO/ 29 ?
A. 2004-05 06 2013-14 55 srer0cS ¢

85.

87.

S o SON0 BEOHO DOF ESSD
SO 06, &I Gtod Beo

B. 2013-14 & Soomrm $eds e S orB 0 Jo Srarahes ¥oT
peapundiy BTAD0 PO G8S” (2004-05 SEOS) AT

OB DSEFETTR) DOTHE DS -

(1) B Srebsh

(2) A m‘Léa) (3) A :))603)) B aomu S"‘;é) (4) A &’))OQ"D.) B 60@)‘

F]‘S‘El
(29) el

[=]



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

88. Which of the following statements is/are true in relation to the population of Telangana st?te ?

A. As per the Telangana State Statistical Abstract—2022, the population of Telangana in the year
2031 would be more than five crores. ' ’

B. As per the population census 2011, during 20012011, the absolute increase in Telangana state’s
population was less than fifty lakhs.

Choose the correct answer : &

(1) B only (2) Aonly (‘33 Neither A nor B (4) Both A and B

B0 U7 B2 Ho020H0D (808 a‘gmg@cﬁ‘ PATAVARERNY:

A. Boors U7l WeE3VES @S| Y §-2022 @S"do 2031 S DOBSIE0S’ Berormre BTy 22> DX &

0T QBV)IT GOLNOD.

B. 2011 232> BE0 (HSE0, 2001-2011 smocS‘ B0 TR 2372 ADE, DHHSO OrE efo
E0T) SEIT GO, [

DB AT, DOTHTRSW : e

(1) BSreH 2) A SFeH (32 ADNOAW BTOWr Sy (4) A HOOSW B oy

89. As per National Family Health Survey-5, the percentage of women (between the age 15 — 49 years)
who were literate in 2019-20 in Telangana was around :
(1) Two-third (2) Three-fourth (3) Four-fifth (4) Three-fifth

2S00 §e00 ey HB -5 (HSE0, 2019-20 & Boom‘aé‘ PO (15 — 49 HOSSIT°e> S5 SO
ORI E) 08 T TS50 ST SdT :

(1) 2/3 S S0 (2) 3/4 S Soed (8) 4/5 & S0 (4) 3/5 S0

90. As per National Family Health Survey-5, the Ur!der-Flve Mortality.- Rate (USMR) in urban areas in
Telangana was :

(1) Less than one-fifth

(2) Nearly one-fourth

(3) More than the infant mortality rate (IMR) of Telangana state as a whole
(4) More than the infant mortality rate (IMR) of rural areas

2B0H Foe0o e85 IS5 (95780, Bc)on"e:.)tﬁ6 QA IV (FomosS 0 QoS yore (USMR) ¥0%)
BF02.5 SO0 TOS” Ho&ezre> Bew "

(1) 1/5 & S0 0T 5808 43
(2) QST 1/4 & S0k '
3) Soorre TR0 IS0 WS FH ST Bew (IMR) Eody NIV
(4) (e (oS % e Bew (IMR) 08y B0

91.  Which of the following statements is/are true j in rel
the National Family Health Survey—4 ?

A. Population above 15 years of age was around two
state.

*2

z»*‘

ation to the population of Telangana state as per

-third of the total population of Telangana

".;

B. Pto;;ulatxon below 15 years of age was nearly/one-fourth of the total population of Telangana
state

:m',
1

Choose the correct answer :
(1) Bonly (2) A only

(3) Nelther AnorB (4) ‘Both A and B
230D otno2 essiHg B -4 K5°80, Berorren ov| & iy

&Y & © $0% 0y DAY DA Ba2r 0I;ED 2/3 & HoH
B. 8eorr v

&@a&m Ol [0 2arersS 15 Q0N yT) ¥0F) BE50%5 SADKD Y EORS 237725 DS 1/4 & S0P
DS SFLrarR) DoE Doy -
(D) B ez @) ASrsH

@) A B0 BBOGT Sy (4) A B0 B BOAT

R o
G ( 30 ) C““}ﬁ
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92.  As per Census 2011, in which of the following districts in Telangana was the population sex ratio
more in rural areas than in urban areas ?

(1) Nalgonda (2) Khammam (3) Mahabubabad (4) Adilabad

2011 2372 BHO (D560, BOOTHS 08 A BLTOS’ a7y dof D S0 |Frosre S0P (i
(roereS’ DB ST SO ?

(1) SQoc (2 0 @) DTararers @) ebderrd

93. Match the following classes of land with the extent of standard holding in Telangana as per
Telangana Land Reforms (Ceiling on Agricultural Holdings) Act, 1973 :

Class of Land (Per Annum,) Extent of Standard Holding (In Acres)

A. Double crop wet land (Class-A) I. 20

B. Wet land other than double crop (Class-C) II. 40

C. Wet land other than double crop (Class-H)-'II1. 10

D. Double crop wet land (Class-D) @IV, 15

Choose the correct answer : o

(1) A-IIL; B-I; C-II; D-IV ~A2) A-L; B-IV; C-II; D-III

(3) A-II; B-I; C-IV; D-III A4 AL B C-I; DIV

SO0 ZTA0NL B (D0 Evered r‘ﬁq‘;}" D8 e3) IO, 1973 (D5°B0 BeorreeS 180 25D
SEHB (FETE3E 8050 DIGOS 2SHGE L

200D SENS (50:5¢5)070) (rSredE 55650 Do (ST
BO DOLIED DOT 8 257 (5SKe3-A) I. 20

A.
B. B0 D0eren HoB Frads 8 25 ($SHe-C) I 40
C

D

Tt

RN

*

A

BO DN DOT TS 8 25 (SSKN3-H)  IIL. 10

. DO HOLED HOT &0 Zrdd (SSHS-D) Iv. 15
0B DETETTR), DOTHTRIE :
(1) A-IIL; B-I; C-II; D-IV ;;(Jz) A-1; B-1V; C-I; D-III
(3) A-II; B-I; C-IV; D-II & AL BIL; C-I; DIV

94. Consider the following Assertion (A) and Reasph"' (R):
Assertion (A) : Vasishta Bhargava Committe¢ was appointed to look into the spending of surplus

funds in accordance with the agreements between the representatives of Andhra and
Telangana regions. ‘":
Reason (R):  Kumar Lalit Committee was abﬁointed to assess the Telangana surplus funds.
Choose the correct answer :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) is false, but (R) is true.
(4) (A) is true, but (R) is false. &~
0B G988 (A) o080 SBET)(R) HSD0S6S :
FISCR(4) : e0(¢s $HOD BOOME (0 (HFBAO $0¢ss 2OAS 2DOTO HF'E0 Wrhen Aewen
DB DEIEI0 DOZDOIETIE 53N 2FGS Eed AALNDOI0 2OA0E.
5820 (R) : B0 e VD @oé@f;;-gomgy@g %516 ©OS g3 QoHAWoTHE0 26R0H.

OB DAPTT), 202 Fakhosw

g Ef DO (R) Bodhr 2.5, S (A) & (R) K)Gi@é )
) DBAD (R) Bk 2,59 0805 (A) & (R).HBTS DSBED.
®) @) 833, 53 B) 2393 o
@ @) ey s (R) ).
R SN
(31) ORAY
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ratS VoSS SAon of

n decadal growth

Arrange the following decades in ascending order based 0

95.
Telangana : D. 1971 — 1981
A, 2001 - 2011 B. 1991-2001  C. 1981-1991 | i
Choose the correct answer : 4 ABD,
(1) B,A,C,D (20 C,B,D,A ® 4065 1; < efrE (5008 @R
Berorre BTer LY 97 S9@ B (%) sTdorT Bod 65?8‘?9"991 D. 1971-1981
A. 2001 -2011 B. 1991 -2001 c. 1981 - i
DB DSFETR), JODE TS : B.D 4) AB,D,C
(1) B,A,C,D (2) C,B,D,A G structure of the total populatigy of
96. Which of the following statements are true in relation to the g(g)SZ) 9
Telangana (as per the Telangana State Statistical Abstract — 1 95.3 lakhs in the year 2021.
A. The population in the age group of 10 — 14 years Was grie 2026 would be around 25-4 lakhs,
B. The population in the age group of 20 — 24 years 11 the year 2031 would be around 32-61 lakhg
C. The population in the age group of 40 — 44 years 11 the year g wild be 97:8 lakhs. .
D. The population in the age group of 55 — 59 years 1 the year
Choose the correct answer : "'\i I
(1) A, B and C only &(2) g ang g °“l§
(3) A and C Only ,‘S,fl) Jan on Q)CSG DZ) a)v @
BOTR T°la INB0 2T TEY SO §5‘:.C5]0.)§\3 How0HoD (808 T3 ) (Soomg
o7l WESNES eS| F°§ — 2022 |55°60) ? - . e
A 2021 5058150 10— 14 H0SSIT® SR SO g DSy 263 Oigg e
B 2026 5058 1508 20 - 24 HOSS T SO EOAS ey ST 254 © & -
C. 2031 H0SSIE0S 40 44 H0SSIT SANITY EOAS Baer 3261 OLOOM GO0
D. 2036 H05S)50' 55 — 59 HOSSIT°E S0Hx0) $OAS 2357er 27-8 ©F. M GOLNOO.
DB DSFETaR) JONE TV :
(1) A, B 805 C Sr(sah @) C 805w D Sr(eded
(3) A DB C Sread 4 B 208050 D Sv(edad
97. Which of the following statements are trué'_i}n relation to the male and female population o
Telangana (as per the Telangana State Statistical Abstract — 2022) ?
A. In the year 2016, the male population in tl‘iﬁ:age group of 30 — 34 years was less than the femal
population in the age group of 30 — 34 years; |
B. In the year 2021, the male population in ttie age group of 80+ years was less than the femal
population in the age group of 80+ years. f\,‘
C. In the year 2031, the female population ini_th"e age group of 65 — 69 years would be more than th
male population in the age group of 65 — 69-Jears.
D. By the year 2036, the sex ratio of children (0°- 4 years) would be favourable.
Choose the correct answer :
(1) A, B and C only (2) Band D only
gégn?;d (i;‘;“ly@« 50050 T ) A Cand D only
Ol )& PO BT DODOAOD) |80 ¢ v :
S S 5[ - 2022 (H560) 7 N 808 rspseres’ DD w) (Beores Tl
A. 2016 HOSSIEOE, 30 — 34 HOSSIT'O SOBVYIKES “ksres o
erge) 2arer 0T 80T &OO. o ANO DD 23378y, 30 - 34 Q00JEBT® 0%t
B. 2021 HOSSIB0ES, 80 DOSSIT 0T &)Y Sk v ¢
Q80209 SADD YO DrFe 3Ty S0T) égwrbg;? &chbmg(ﬁo VOO BIEr, 80 Do o0 O
C. 2031 H03S)B0EY, 65— 69 HOSBITE SAHB) YKey %
v, A 4 e, O . v,
YENO BT 0T DRI GOLVOD. | ;'3 DI O 2oy, 65 - 69 Q00 YT o
D. 2036 &5 0056380 a7¢38, (0 — 4 DOSSYTed) HE .
OB DSTFETER), JONE TOSNSW : ! ¥ Sofi 92,3 ONETFOOT GoENOd.
(1) A, B 805w C So(ehadd @ B
(3) A SO C S @ A %350& D S5
» C 2B D S,
R i
. (32) 2t
R
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98. Which of the following are flagship projects of Telangana Industrial Infrastructure Corporation

(TGIIC) ?

A. Apparel Weaving Park at Sircilla B. Mega Food Park at Buggapadu
C. Sultanpur’s Medical Devices Park D. Industrial Park at Zaheerabad
Choose the correct answer :

(1) Cand D only o (2) A andB only

(3) A,B,Cand D ©>  (4) A,BandD only

1808 ¢3S’ DD Borres JOFNE FOF 5&‘{5{'&)@ 58)BAS (TGIIC) Ty, (DTS ErEEen ?
P ° v 5 “
A. DAY IQ e I 6y, B. 220 S5 e HE 6y

4
o

¢

C. TR0 Js HdET e 5), T\ D. Zroerd ¢ O FTE O
$BS DITTRY D0BE DAwED : o

(1) C 5B D S5 L] @ A2600B smss

(3) A, B, C 5005 D e (4 AB3OCH D Sre$

99. As per Telangana Socio Economic Outlook-2023, of the total number of persons working in

indusiz-ial sector in 2020-21 in Telangana, the manufacturing sector has provided employment to
around :

(1) 36% (2) 28% (3) 58% (4) 52%

Boome T @08 Supd$0-2023 (D580, BeomreasS 2020-21 & FBFWE SooS HA TYS)
SIS0 35S, S05TE B0KO DSTET A 70 HOOE GO £010D0E ?

1) 36% @) 28% @3; @) 58% 4)  52%
o

100. Arrange the following subsectors of sefiice sector in ascending order on the basis of their
contribution (%) to gross state value added(GSVA) in 2022-23 (provisional estimates) in Telangana
as per Telangana Economy, Provisional Estimates, 2023 of Government of Telangana :

Financial services ; o
Public administration =S
Real estate, ownership of dwelling and professional services

Trade, repairs, hotels and restaurants

HoQwp»

Transport, storage, communication and services related to broadcasting
Choose the correct answer : .
(1) B,AE,D,C (2 C,D,EAB (3) D,ABE,C (4) B,C,A,D,E

. =]
Be0Me (DB ) BOOTEH ISR, YO otdren, 2023 (95°00, 2022-23 (@@, eotdaren) &'
SO0 Are o7 Dend HO0NS D EBKo Ty, IO T3 (%) SO (806 B o
S0Ko TnE) SHBOMT BT 55006 S ) :

A, D% den <]

B. (D20ehS DO O

C. DO, AT CSraSraso SO S593d5BS Brsen

D, $80, SoBsnaeen, S ethy $H8a%0 t’._)g‘é":g}é ooy

E. S D65 E0riREAS 8050 1HRrE H020¢ Wden

3B HIFEFTR), DODE TAS0 : : :

(1) B,AE,D,C (2) C,D,E,AB 3) D,AB,EC 4 B,C,ADE

. e
E (33) s
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101.  Which of the following statements on Garib Kalyan Rojgar Abhiyaan (GKRA) are correct ?
A. It was launched in 2021
B. It aims to provide 125 days of employment.
C. It focuses on Gulf migrant workers only.
D. It was launched in Bihar, Jharkhand, Madhya Pradesh, Odisha, Rajasthan and Uttar Pradesh
states in the country. -
Choose the correct answer : O
(1) B, C and D only ::
(2) A, B and C only :;:;
(3) B and D only <J
(4) B and C only ~
102 Sem5el B8 e DoirS (GKRA) % J020HOD L§oq‘> T30S’ DD DB ?
A ad 2021 S [ E0DNOSHA0S. {;Q
B 125 B0 SO §0305¢%0 A &B30. i
C. AdHS) S0 5850 D S SR V0.
D. O TS DB, &rgos, Sss OB, wBr, TaTS HOGKD &od W85 olrod’
oo,
QBN AIFETTR) DO TS :
(1) B, C 805w D (e
(2) ‘A, BSOBOS» C Sy R
(3) B S0OOE D Sr(ebsd )
(4) B 0805w C Srebad- 2
102. Which of the following statements regarding 'Primé:Minister Awas Yojana (PMAY)-Urban scheme
are correct ?
A. It is intended to provide housing for all in urban%ieas by 2025.
B: Affordable Rental Housing Complexes (ARHCS) 1% a sub-scheme under this scheme.
C. The scheme has made a mandatory provision for the female head of the family to be the owner or
co-owner.
Choose the correct answer :
(1) B and C only - (2) A and B only
(3) A,Band C : (4) »Xand C only
OGS DO e85 -Brre3S-2€)ed (PMAY-Urban) wéﬁsﬂg LOV0HO0N 808 sz’ D QBN ?
A. 2025 T8 HLE (0T OS 008 KysFer @o&oiﬁa‘&)ﬁ 20 GTRoSDAR0A,
B. & D50 DI ©F Bl S0 aren (ARHCS) e 2.8 . He%%o,
. & D650 808, HoeN0D0S' A DIrY BH (wﬁf 9> ADBITAT BT I -CHBIrdT EomerD
RVO0BID )N TROA. .
0B DITEEV) DoDE Fakwsw o
(1) B85 C Sr|ehsd (2) A BA B Sredah
(3) A, B0 C 4)y A DB C SresH
R (34) [;if{
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103. Who formulated the National Rehabilitation and Resettlement Policy, 2007 ?

104.

105.

106.

(1) Land Resettlement Division of Department of Land Resources under the Ministry of Rural
Development

(2) Land Reforms Division of Department of Land Resources under the Ministry of Rural
Development

(3) Land Reforms Division of Department of Land and Water Resources under the Ministry of Rural
Development

(4) Rehabilitation Division of Department of Land Resources under the Ministry of Rural
mvelopment

2rSAH HITITHO DO HITTH DTS, 2007 & DS ErroBomd / A 5omE ?

(1) rOETDDIE HOBSS T 08, A SSDHS 2 HSTTO WS

(2) [TRTDIYE OB § T k), &5 b«éci)@aﬁr 0080 DT

(3) UTDETHII 0@ 3 T Ty, 25 SO DE3 SSHE 253 N0, B DaTHisn

@) (TETDIIO S00\BS S T8> Thoky 4 SIS DITTH Derrtiesny

Based on the urbanization rate (%), as per «fﬁénsus 2011 data, arrange the following states in

descending order : r"“}

A. Karnataka B. Kerala l:G Maharashtra

D. Tamil Nadu E. Punjab o

Choose the correct answer :

(1) A,C,D,B,E (2) C,D,AE,B (3 D,B,C,AE (4) C,B,D,AE

2011 BT BELO (DSE0 HQEBESe B (%) SFIOIT, (8§08 TaFOD @S0 E0eS @080 :
A. o)l B. 3¢ C. Iroian

D. SDFTD E. doxd

DB DIFETTR), DODE AW : o 7

(1) A,C,D,B,E (2) C,D,AE,B 3 D,B,C,AE (4 C,B,D,AE

According to Migration in India Report 2020-2021, which of the following Statements is/are correct ?
A. The All India migration rate was 28:9% for,in’Iy 2020 — June 2021 with a 26-5% migration rate in

rural areas and 34:9% in urban areas.

B. In rural India, when compared to women, ’__ex‘l recorded a higher rate of migration.

Choose the correct answer : {(2!) Lo
B onl e only

E%i Noither A nor B (4 BothAandB

rESTIOS S SOHO JBOE 2020-2021 (H5°60, 80O TS DO/ ) ?

A LSS Sede Bew, 28 2020 -7 2021 T¢38 Smwsbo rdssiod’ 289% e, rade |roerees”

650 M SH00 DB (FoTOS 34:9% I 0l -
B. (o6 2rSSTE SO0 BN D08 §O )5, HHen efE Ben STrch Tk,

BB HITTTR), DODS TAs0SW :

(1) B Sr(ead -
() A 58050 B Bodwr®

3) A SO0 B DO 5% S ;
to the 2011 Census, the top three Indian metropolitan cities in terms of urban population

(2 A NV

According

(alr)e Mumbai, Kolkata, Chennai (®) Mumbai, Beng.alllél‘;ll; Iiolkata
(3) Kolkata, Chennai, Bengaluru (4) Mumbai, Delh‘é @gﬁa 3:6(?0‘@ .
2011 T2y S5 |95°80, Q03¢ SHore BTy éé@oq- Bnse3 ored &3"6) o :
1) 2oz, €658, TB @) SnoB Bty

(3) ESES, TI), BoHETd @) Swoz, A, =

o ki)
i

(35)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

VI innA‘lﬂ ?

VIV UL L2252

107. Which of the following statements is/are true as per Article 300A of Constitut
A. The government can impose ceiling on land holdings.
B. Right to property is only a legal right.
8})]01;52:1};9 romectane e(rz') A only (3) Neither AnorB  (4) BothA and B
25 T2 50l0S5° @BEBE0 300A (D560, (808 T§OS DO /DD 2:2)) ?
A, BrEHTe N (0206 50 K0 HDOWBR) DOTIITN).
B e T80 (D0S0 $300 QDR T80 S,
JBN AIFEFTR). DOVE TIOVIW : .-
(1) BInSD @ ASMSH  (3) ADOCHBOOErSE (4) ASHOKWBTOGET
ar uisition, Rehabilitation and

108. Right to Fair Compensation and Transgarency in Land Acq

Resettlement Act was passed in the year : <1

(1) 2008 (2) 2003 (3) 2018 (4) 2013

SREGE, JSTTN0, TLONDS DO maoﬁ» FEREES FEY DO D 505880 278
DR ?

(1) 2008 (2) 2003 “(3) 2018 (4) 2013

109. Which of the following statements about the Forest Rights Act (FRA), 2006 1s/are correct ?
A. The Act encompasses rights of self-cultivation and habitation.
B. The Act reduced the importance of Gram Sabha.
Choose the correct answer : _
(1) B only (2) A only
(3) Neither A nor B “{4) Both A and B
e TH0© 9O (FRA), 2006 (5780 & (808 @5933@@'5‘ DO/ 2.3 ?
A S S5H0S D IADTID SHOON DT &Ly e’ @‘ocﬁaooéiﬁaag‘cm
B. & Q0 (T 02 B0 (D cdsedad éﬁoi’)o&’

DB AT, DODE OV : '
(1) B&rsH @ ASrSH
(3) A DHBAS B BO&r 5% 2(4) A D8ASW B Bockr
110. Fromt“}Vorld Inequality Report 2022’ for‘‘India, which of the following statements fs/are
correct !

A. The report presents that inequaiity of income in

India has been increasing in the last few
decades.

B. ’é‘he (;‘eport suggests that inequality of wealth in India has been decreasing in the last few
ecades.

Choose the correct answer :

(1) B only (2) Aonly (3) Neither A nor B
(0250 @dSrSee AFOL 2022 S 2rESSio (1360{:)«6 1808 Trgsees HB/H ) ?

A &Q
SOE D560 T ESTIOS’ S aH DTS e fied §) Saerenmr ood)ﬁér &) Q.

B. & Q36% 155°60 2r8S$B50cS H0Hced @«o:méécn fied §Q) Saerenm StPHesoam) ow.
QOB AT, JODE FAinsm - ;

(1) B 3¢5 (2) AdSred a(é)

(4) Both A andB

A B0 BBOSr 559 (4) A 5805 B BOr

R (36) o

A
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11. Match the f i i
1 e | ollowing Sustainable Development Goal numbers with their objectives :
Sustainable Development Goql Number

A 1 Objective

G s I.  End poverty everywhere

o II. Ensuring affordable and clean energy to all
S III. Reduce inequality within and among countries

IV. Gender equality and empowerment of women

Choose the correct answer - V. End hunger and malnutrition

(1) A-IL; B-I; C-IIL; D-v (2) A-I; B-V; C-II; D-III

(3) AIL; BIIL; C.I DIv (4) AT, B-IV; C-IL; D-III
808 VTDIYD 5 QOPIORD aT¢3 OT IS 23HDHGTORW :

“‘i){g)o’é?"saé O\..S:JO (60&); offo o

A1 L 938 S Hoos demod

B. 5 IL D85S affordable) SO0 & 5857308 R0BS0 @0S08

®02reNSS SO0 :
C. 7 L 50 S50 HBAM Bre 3 edIrSe SH0SH0
D. 10 IV. Dot DFSS SO0 Sirer QTS
V. o5 0050 aRsird S0 (malnutrition) SOA0TSE0

DB DI R), DOTHERISW - o
(1) A-II; B-I; C-III; D-V (2) A-I; B-V; C-II; D-III

(3) A-II; B-III; C-I; D-IV (4) A-I; B-IV; C-IT; D-1II

112. Which of the following statements related to Chipko movement is/are true ?
A. Chipko movement is aimed at protecting trees and forests.
B. This movement originated in the Hinialayan region of India in 1973.

Choose the correct answer : 5%
(1) B only 3
(2) A only e
(3) Neither A nor B oo

[

(4) Both A and B L]

DD &35O8 H0DOHOW (80O T5IO, DO/ 23 ?

A S SO0% ©BHOD BEOB0 & GEIH0 T &30, ¥

B. 2r38TE50SQ Iraredd o0’ 1973 & &1 €59 5300 @BOLIOO.

HBS DI R, DODS TS :

(1) B Sr(ebad ti

(2) A ST (8
| 3) A S80S0 B DOKT $°)

! (4) A OO B BOGT -
‘ 113. In which year was the National Green ij{b}lnal Act enacted ?

(1) 2009 (2) 2008 L1 (3) 2018 (4) 2010
2 B0 O (E55SS RO 0383608, SETOB ?
(1) 2009 (2) 2008 (3) 2018 (4) 2010

By
[®] (37) BN
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Year

Name of the Conference 1992
United Nations Conference on the Human Environme II. 1972

Earth Summit, Rio-de-Janeiro b 1II. 2015
Ly
ent, Johannesburg IV. 2002

. fere
114. Match the following conferences with the year in which the con

—

nt, StockhOlm

Werld Summit on Sustainable Developm
United Nations Summit on Sustainable Development
Choose the correct answer :

(1) A-II; B-I; C-III; D-IV

(2) A-IT; B-I; C-IV; D-III

(3) A-I; B-1I; C-1II; D-IV

(4) A-1IT; B-II; C-I; D-IV o
& 1808 DIFSITOD @ 2OAS N0HS IS0 23 DBV !

S0 He ¢ Pode)do

A SPSS HOESBE0D DETEs SN HIFSo, FEFS L 1992 .

B. 8 365, 0Fr-A-208 (7 IL 1972 U\%S :
N

C

D

Dowp

Fad
1

208 ©DSYBD DHOW PO HSFBI0, TR L 2015 /
NS DN D DE;TES Daded DTS NP DFO - Iv. 2002 "-\ //
N0 QATPEIR), DOTDE AW :
(1) A-I; B-I; C-III; D-IV
(2) A-II; B-I; C-1V; D-III &
 (8) A-L; B-II; C-III; D-IV 3
(4) A-III; B-II; C-I; D-IV ;

115. Arrange the following Acts in chronological order :
A. The Compensatory Afforestation Fund Act
B. The Wild Life (Protection) Act
C. The Biological Diversity Act o
D. The Environment (Protection) Act
Choose the correct answer :
(1) B,D,C,A (2)
(3) A,C,B,D (4)
808 IO SPOEXTOTE0 @B )0 : ‘
A 5058 @6 205%0 O B0
B. 38§ (arene (HodE ) &0
C. 235 3D&s &0 ,
D. Jo7588en (HBBE £9) IO d

KT DEPETTDY DoDE Fcsww : L

(1) B,D,C,A 2 B/C.p

(3) A,C,B.D (4) D’ B’ O’A
» B, G A

(38)
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116. Which of the followin st .
te alati .
Pollution) Amendmentg Act’azol;:;lts are true in relation to The Water (Prevention and Control of

A. This Act of Parliament received the assent of the President of India in February 2024.

g“}h;s 2013 was enacted by the Parliament in the 76th
1s Act applies, in the first instance, to.Delhi and Telangana states only.

da ys I:f?‘rsor;lv.vho fa_ll_s to pay the penalty;imposed under the provisions of this Act within ninety
¥S ol such imposition shall be punishable.

Choose the correct answer - .
(1) B and D only <

ey a (2) A,CandD only
(3) A and D only ,\.i! (4) A, Band Conly

Qe (TNAS AT O QA0 e9) DBGE-LIRO, 2024 5 H02OHON (808 & §IOS’ D 23 ?
A TEH0ED TS 8 940 D30 2024 & ePGS TLRHD GIAFS0 FOBOA,

year of the Republic of India.

O oW

B. 2r8837% 765 Heastole does 1806 TED0LD & IEFR) TOHEIo 28A08.

C. & 0EIA) I0E InAES™ & S8 BOOMED TreOR ST S009TaHe0 26008

D. & SQOS' AT D20BS HSE0, DSBS BONE 2057 DB 2EMHH0E 8 BOITT
AAODS S0B Farer SHe), A BOHoSESS IFDeJe .

QB DGR, DODE TS ; .

(1) B 8050 D Sre(ebsh 52 (@) A, C SO0 D Sredadh

(3) A BN D Sr(ebsH & 4) A, BSOS C SrSH

117. As per Forest Survey of India, which of the ﬁﬁlowing are classes of forest cover ?

A. Very dense forest B. Open forest

C. Moderately dense forest (] D. Mangrove

Choose the correct answer :

(1) A,B,Cand D o4 (2) BandC only

(3) B and D only & (4) A, CandD only

B SV & RoAATF |D5°80, (Sod TS’ DD ) DAYO (forest cover) ' SEHeHED ?

A, e LS 98D B. 280 &

C. 0BV SES et D. ¢ o

BB DIFETRR), DO TAWSW :

(1) A, B, C 5005 D o (@ B5Baw C NS

o

(3) B 0050 D Sr(ehad ®
118. Which of the following statements is/are tru%'?

A. National Mission for a Green India was{l\ unched in the year 2012.

B. National Bamboo Mission was 1aunched<i}} 20192.

Choose the correct answer : D

(1) A only (2) Bonly o5

« ( v LO
800 TS DO/ 2 ?
E\ 555 AS HB D (AS ROBATD' 2012 S S0HES 5065 |BodoTd.

B, 55 2r0exr (bamboo) DASD 2012 S (DEodo.

S DITTTR) VODE En{OWINE
:; A:)amé?fn 2) BIr@d 3) A 000 BTOGT Sy (4) A DB B Bodky

@) A, C 580 D SHeH

(3) Neither A nor B (4) Both A and B

(39)
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119. ‘Har Medh Par Ped’ scheme was launched in the year :

(1) 2014-15 (2) 2012-13
(3) 2018-19 (4) 2016-17
56 O 36 DE’ IP5R), (G0D0NS VoSS YE0

(1) 2014-15 (2) 2012-13
(3) 2018-19 (4) 25?-016—17

& .
120. Which one of the following Acts related to cnvironngg;?lt was enacted in 1995 7

(1) The Noise Pollution Regulation Act (_,]
(2) The Municipal Solid Waste Management Act (\:]
(3) The Batteries Management Act j

(4) The National Environmental Tribun}al Act L e

HOSBETRE HOWBODS (808 O HEFQ) 1995 S BT ?
1) %2 sreAg (EDDPEGR SO

(2) S0RINS NS ST QB o7 O

@) arserde NS W&o

(4) 2S0DH JTESSe (320589 o

121. Which of the following are the reasons or factors iﬁﬂuencmg rural to urban migration in India in
general 7 - @
A. Climatic and meteorological disasters like flopds and droughts often compelled the people to

leave the villages. q
B. Youth have shown a tendency to look for jobs in the cities

C. Educated and technically skilled persons prefer to leave for cities for better opportunities.
D. Higher wages in urban areas attract people to migrate.
G

Choose the correct answer: dp!
(1) B and D only (2) A, CandD only
(3) A, B and C only (4) A/B,CandD

800 TS’ rESTF0S, TS0, (TaDE (PO D0 HEE (0T SHDOB K> sdren Soe
SOIOD (HFAS0 TR ©07°EN ) ?

K T80 50050 Fersden D020 e @K)rr SEG, Y QPO (H23eN (PETFOE SSEO)

l B. d@woé‘ GG SE5 AideS (Tadre) 0B & a@w&é\) SO JIFT .
G 4 QQWO(’SG 3)636(6
’\«2} iy ©I5TO S JargSoden Kn(}o‘&a B350 EORS ) (IPAred OB HEET &)
h Z’ TS D&y Fes .
o . b ISTOH BEQHS (rlres 8501 S0P (D3 HLETOL SO0 IFeS.
QTR Do Bk : o{;
() B 5800 D Sr(es s ¢ “

(2 A, C 380 D Sr&H

(3) A, B S8akw ¢ BV (4) A B, CHBASHD

' (40 ) (ORI
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122. Under Mahatma Gandhj National Rur

al Employment Guarantee Act (MNREGA), which index is
used for the revision of wag

e rates ?

(1) Consumer Price Index for Agricultural Labour (CPI-AL)
(2) Consumer Price Index for Rural Labour (CPI-RL)

(3) Wholesale Price Index for Industrial Labour (WPI-IL)
(4) Wholesale Price Index for Agricultural;Labour (WPI-AL)

T 00 2 e aard HEO (MNREGA) 806 D Grof B8S 556w 0% SO
GHTBEAOBES00 ?L “ ;;36”) ( il

(1) S5IJAH 1FWoe> T8y AITrHicrdHOBED A (CPI-AL)
2) 08 [Fde §&5, DATERT e c_sgs‘ {0°8) (CPI-RL)
3) OTWE 1FTWoe 8Ly s S8 SR (WPI-IL)

(4) SO (T80 8o 578, &8e> sz&fg:thPI-AL)

123. Which of the following

are the salient features of the Special Economic Zones (SEZ) scheme of the
Government of India ?

A. No licence is required for exports.

B. Manufacturing activities are allowed.

C. Licence is not necessary for imports.

D. SEZ units cannot give subcontracting.

E. Service sector activities are allowed. 59

Choose the correct answer : @

(1) A, C and D only o (@ AB,CDandE

(3) A, B, D and E only <] (4) B,C andE only ‘
180& a¢36S° arGes (DS 0 TwEY (DSBS e S Soodere (SEZ) Hesey g oL eren D7
A DHDSE FEE JENS0E BRS) @580 So..

B. 058 (manufacturing) 585 ESren OIS BoSBET O,

C. BHDBOH BID) OIHE0 S. g

D. (5858 308 HoderoS ) COrIEY & SoErf e B3 507,

E. Do %08 sE5ESren 0805 0%e 0.

DB DITETTR), DONE TV :

(1;6-i, s ba%voﬁ» D &b (2) A,B,C,D X030 E .

(3) A, B, D 08050 E &Sr(¢93) . (4) B, C 8% E S\

124. Which of the following statements with regard to Multidimensional Poverty Index (MPI) is/are
- C 0o 8\
? =)
Zorr}i(:n.lan Development Report 2010 inté%luced this concept.
. i nication and'standard of living are its dimensions.
B. Education, health, commu <]
ect answer :
(Ci};ol(;si}:}: acfllc'er (7} (2) Neither AnorB
o -~

1 (4) Aonly '
(33 Bazga& =5 488 DS (MPD) $ H0200Q00 8§08 a5m s AB/AD SBISE/D ?
PN

&3 27688 1B 0.
326 Q368 (HDR) 2010
g. ggiéei‘fso??w;tﬁé‘s SB8050 2SS 1D8red Frow, T Seren.

g 258 TIO50W : :

DB coérm‘a‘;)% ;3;. (2) A 8050 B BOKY 5°)
1 A i;ij;) (4) A Sredbad

(3) B

a3 (41) R
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125. Match the following Indian Government initiatives with their aims/objectives :

oawy

Choose the correct answer :

(1) A-III, B-IV, C-1, D-V

(3) A-I11, B-V, C-I, D-II

1808 2788 (D2 S SEEITOD T OF I/ €

126.

V.

.,-/{ 4

127,

Programme Objectives . B ———
Mission Indradhanush I. Assured minimum pensxon}forfbft?mor et

. . i ater for the future
eSanjeevani II. =Conservation of w i~

Pradhan Mantri Vaya Vandana Yojana II(i(l}\)Universal immu.nizatlon 'I:}:)j e
Mission Amrit Sarovar IV: Providing sustainable drinking s
v ““To enable patient-to-doctor teleconsultation

(2] A-V, B-1, G-IV, D-II
(4)1 A-IV, B-V, C-II, D-TII
Brod asdsSm:

J OSSeD
A. ;Cfg R0(ABDV I Syvedn $dR BEXS A &oé(& JOF Ao
B. 2003 I 22588 890 Aed SodEe
C. 1T 0|8 ST S50 1L 3% 81 ABE 85800
D. AS ©93yS J8S IV, 28D @10 AR ©0HOEL0 )
V. BA8-Scs8 eSS BOEINBAS D @0oROVETS
IV DAFTTR) DOTHE W : P

{\
(1), A-IIL, B-IV, C-1, D-V ~¢3, A-V, B-I, C-IV, D-IT

§ A-III, B-V, C-I, D-II @Xb A-IV, B-V, C-I1, D-III
Poverty can be classified into the following :
A. Absolute poverty
C. Relative poverty

B.4 Primary poverty
D:. ! Secondary poverty

Choose the correct answer : D

(1) A and C only (2)5 A, B,Cand D

(3) Aonly (497 B and D only

£B05) 808 DB $Q¥B0SS) :

A, dBDE BB50 | . B. [ wSd%0

C. s HK%6%o D. B580H (RE0E) Bd¥o

DB VTR DOVE TSV :

(1) ASOOSH C Sr(ebad (2) A, B, C 835w D

(3) A SIS (4) B 8050 D S

Arrange the following schemes of Indian Government'in chronological order on the basis of thei
launching : @ ) err

A. Beti Bachao, Beti Padhao (BBBP) o
B. National Rural Livelihood Mission (NRLM) y

C. PM Street Vendor’s Atma Nirbhar Nidhi (PM Q’AN idhi)
D. Swachh Bharat Mission-Urban (SBM-U) <]

(Cl})m]gse the correct answer : []

,A,B, C (2) B,D,A,C 3)%5

a0 (92068 533 80B IS e3 (&S00 ewgg'r‘:‘(s}:c?@gf&a‘d i
A 88000 58§ och, BBV VA0 (BBBP) I SRR
B. fréom P0ED BSS'FE DAS (NRLM)

C. ':)")O A T HE eseh) N80 AQPM SVANidh§ i

D. 05%5) 2768 0S-5&6 (SBM-U), 3.0\ g
OB AT D0DE DAL -

AT D,A,B,C
A, B, (2) B,D,A,C
7@ £.D.4.3 %B,A,C,D

(42)
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128. Which of the followin : . " . :
Sltainable developm egnt:;if?e recognized as engines under PM Gati Shakti for economic growth and

Logistics infrastructure
Housing

Airports

Railways

HOQWwp

Waterways
Choose the correct answer :
(1) B,Cand D only

(2) A, BandE only
(3) A,B,C,Dand E

(4) A,C,D and E only

Q8 "60? DB VB DS FH6 2o #S 38 8005, 808 ¢35’ DD ROBS N HBOSDAT AW ?
SBREY FTOF HeHDSren (logisti

ERPRISRINY (housing)
DI IS en <]
BB gen
E. ¢ Srgrew (waterways) L
OBS SIrTRD) JoBE Bawsw:
(1) B, C H8a%» D S»|evd (2) A, B DO E &r(¢dad

(3) A,B,C,D HBAHE (4) A, C,D 805w E Sr(ehad

¢s infrastructure)
v

o Qw P

129. As per NITI Aayog’s report on ‘multidimensional poverty in India since 2005-2006’, which of the
following states showed fastest decline in the number of multidimensional poor ?

Uttar Pradesh ot
Rajasthan :
Odisha %
Madhya Pradesh

Bihar
Choose the correct answer :
(1) A, D and E only _ (2) A, B, CandE only

(3) B, C and D only (4) A,B,D andE only

85 esI3rf SB0E, wrOSTE IO ja<56§o JIHE 2005-2006" (D580, 808 T rosS DI
BHS0STS DIVBAD DEO éﬁ)é@:{?&z }ééaéwom ?

A GBS |DDB o

B. U°2F® ' e

C. u&ar ¢
B 06§ 10B% [
s AEAY S

IBS DIFTT R, DODE TSN
(1) A, D 5805 B S0

(3) B, C S80S0 D &’l?LéTff\

E (43) o

HoQowp

s 4

,‘ " -
M RA L) Ll L

(2) A, B,C 00 E Sr@ad
(4) A, B, D 8050 E Sr(¢b3D
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130. Match the following phases of growth rates of India’s population with their respective p

Phase of growth rate of India’s population Period o
A. High growth with definite signs of slowing down 1. 1901 -19 .
B. Rapid high growth . 1921 - 1951
C. Stagnant population III. 1951 - 1981
D. Steady growth IV. 1981 -201
Choose the correct answer :
(1) A-IV; B-III; C-I; D-II (2) A-III; B-IV; C-I; D-II
(3) A-IV; B-II; C-I; D-III (4) A-IV; B-I; C-1II; D-II
OSTY 237z Sy Tew Ty 808 IO ¢3 HoodS SO 23HDGTOW
I SSTF B8 S Tév SF S+ 50

A 305R0T OIS doted wdE SO BES L 19011921

B.  JKI085S S8 ," IL  1921- 1951

C. Qaszzy <} 1L 1951-1981

D. VDS 9@ /4 IV, 1981-2011

QBN QIFEFTRV), DOTHE RS ‘—E

(1) A-IV; B-IIL C-I; D-II @ AL BIV; CI; D-II

3) A-IV; B-II; C-I; D-III (4) <A-IV; B-I; C-III; D-II

131. Which of the following statements is/are correct with regard to Human Development Index (HDI) of

India ?

A. India’s HDI value decreased in 2022 after an increase in 2021.
B. India was placed at 134 in HDI rank out of 193 countries in 2022 as per 2023/24 Human

Development Report (HDR). o~
Choose the correct answer : e}
(1) Both A and B (2) ‘Neither A nor B
(3) B only (4) Alonly

3
2ESTE Ardsd ©DSHB KA (HDI) & $020809) 508 §5OS’ DB/ DBSB/IBSD ?

A

A 2rOSTE S @D KrdE Dend 2021 & ':;3,6@6 ST 565 2022 ° SN0,
B. 2023/24 Sy 0590 88 (HDR) (H5°50, 2022°¢5" 193 Broe® 2r8S8%0 HDI orgody

T30S &0b. i
OB ASFETTR), DODE TS :
(1) A 805 B Bodyr (2) A B0 B Bodkr s
(3) B Sr(essdh @) AJSreD

132. Which of the following statements is/are correct s

A. Indi ‘ - , 35 |
ndia has the ‘demogr 3)““‘3?“%9 to produce and supply educated and skilled manpower,

B. India has the largest cientific and technical marr'ff)}ower in the world in 2024
Choose the correct answer > —— R ' B .

(D B only (2) Aonly
508 & spgeres” DB/ BBIE/D 2

A 28880 Doy
o SD0BOD, TYeso EORS S &~ i
LQ)@J‘ZSB‘K)D,' (demographic advantage) $OR goa :g“:%sg) 42 Soaw SRID Sabards G

(3). N either A nor B (4) Both A and B

A

S e (29006 e3¢ 7 8y
(rj)@s SID) 2028 Tty (2% 5B S5 489 £OA wod
Bareg
(2 N
E e ¥ ADBaBBotr iy () A 805 B Bociye
(44) e

2 ]
 EWL
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134.

135.

E (45 ) S

win
Office (NSSO) in Indi
A. Usual statyg une

ag? concepts of unemployment are developed by the National Sample Survey

6 Gorest b Srtx;i)lll(;yzlent B. Current mcfnthly status unemployment
Choose the corept answe; ‘ employment D Current daily status unemployment

(1) A, B and C only ' “(2) A,B,CandD

(3) A, Cand D only “U4) B.C 5?3 1

TESTIOS'D BASS 5 50 806 28 2

A D60 Dron nsa D V08 8D (NSS0) @507 800 Dt arssed 50 @syd Tovngan?

3 NS ‘B, |O0WS Sod graw &8ss
C. (ST TOTES vesind— (3 W8 Boxt ;
R8BS OITTTR) DODE Bk - i I? DO B2 6 Frow A5
(1) A, B 8w C ALTERY (2) A B, C 5805 D

(3) A, C 03D D Sw(esy “(4) B, C 280 D Sressh

;:’VhJclh of the following statements are correct with regard to the Scheme for Providing Self-
mployment to Educated Unemployed Youth (SEEUY) ?

A '(Ighésicheme was originally introduced in Maharashtra as Employment Guarantee Scheme

B. It was introduced by the Government of India in 1986.
C. Its aim was to encourage the educated _unemployed youth to undertake self-employment

S

ventures in industry, service and business: -
D. The educated youth should be in the age group of 18 — 35 years.

Choose the correct answer : o
(1) C and D only <(2) Aand D only
(3) B, C and D only ' +(4) A, Band C only

9C0HB0S) ABEESH AIWSSE DIANO &I G %’é’):goﬁ JGEO0 (SEEUY) 5 3020800 808 argpseres’

DB D ? b i

A Booe EID HTTRS S F BSLo (HES) m 535 .

B. 1986 ¢ A 2786 102D 50 (HIFNEoH. |

C. DEs50SBS IBESH TISSD HOWM, DI WO FEFB0S’ HI0H0 SO oSG Tder
|8 )2r0t50 O &TI0. ‘

D. DrsS0eBS aindes 18 OB 35 OF NS Gomd.

K)éé DITETR), DODE TAIVSW : :
(1) C o805 D S5 @) A B0 D SFSH
3) B, C 3805 D Sr(ead _(4) A, B DO C S

As per National Family Health Survey-5 (2019-21), arrange the following states in descending
: rms of neo-natal mortality rates: -~ ’ A

te |
Zrdgi,hualr - ©B. Jharkhand
C: Madhya Pradesh - «D. Telangana
E. Uttar Pradesh M
rrect answer : R
Choose the co (2) AE,C,D,B 1(@3) ACEBD (4) E,AB,D,C

B,D :
(81°)€3§§>A,S\?¢’J>ozo esBtly D055 (2019-21) (DSOS 3D aDEETO BE S9ars, & (80O T ared

oS EEm (K0S @NHEDIN | :
C. He55 0BT D Beors
e i

9B & 23 DODE TSI :
8?2:“? c 3, = (20 AECDB (3) AC,EB,D 4) E,A,B,D,C
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136. Which of the following is/are correct with regard to economic growth and development ?
are not considered as identical concepts any longer.

A. Economic growth and economic development
ents.

B. Economic development is the summation of economic growth and structural advancem
Choose the correct answer :

(1) Neither A nor B ’£2) Both A and B

(3) Aonly A (4) Bonly

308 590 SO TS5BS H022080D §06 TS’ DO/ DJIE/ ?
A 08 390 200 80FHIIQ BED 28 SEDS arddeor H0rieIoNnct).
B 805050 050 08 $90 S8k JoEres s HEHS Gy do¥do.

DDA AITETTR), DOTHETRVAW . o
(1) A 56050 B Bodr 5% [® A6 BBoGr
| 3) A ST o) BSrSD
: 137. Which of the following are key dimensions of Haman Development Index ?
.‘J-‘w-. A. Ability to lead a long and healthy life.
/. B. Ability to achieve a decent standard of living.

C. Ability to settle in high income areas such as urban centres.
D. Ability to acquire knowledge.

Choose the correct answer : ;:;i:; -
(1) A and B only &2 A,B,Cand D
(3) C and D only : ¢i(4) A, Band D only

800 TS SrITDI9Q D¢ T §osDS Thden @HSW DI 7
A DOEDS 0 esSHESDS £DeR) ﬁcé:)r‘jo @50, —

B. 00 2SS (DSTETQ) ar&oSKe PP S0. };T .

C. ©&8soad oz Hoe Sooas ?96!:)?:3) T*NPs0.

D. 2 IS0FGS Fvdso. n

DB DSFETTR), DODE DS : ’

(1) A SB8aiw B &Sr(edsdh (2) A, B, C 835 D

3) C O3 D Sr(essh 4r A, B DB D S

138. Which of the following h i '
g human development composite ind; : : :
Development Report (HDR) 2023/2024 of United Nations D g 15 "20¢ included in the Human

X Natio
(1) Multidimensiona] Poverty Index (MPD) | <& ns Develop@ent Programme (UNDP) ?

(2) Gender Development Index (GDI) "‘

" (3) Planetary Pressures-adi
s-adjusted Human Develo
) (4) Happiness Index (HI) elopment Index (PHDI)

'

- 8os D808 <
’ 5 EODGS SrITDSHD WFDH ST A 2% 4
[ (1)?*22%? @ "‘léaé (HDR) 2023/2024ﬁﬁo&bbéaééé@?&sc\)&a @&6&@ ®$o (UNDP) Q08
| s @;oﬁa D08 Arog (Multidimensional Paverty Index (MPD))
D590 Srd (Gender Development In:deS( (GDI)

@) (115 2,8y~ . o
Index (PHDY) DPeren B S5 @DS9G 30K (Pl

) NOEH ¥
Sl g (Happiness Index (HI))

anetary Pressures—adjusted Human Development

(8]

(46)

ORdD|
Fix
Fom
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139. Which of the followin e e _ .
measuring economic divse(i::)fxlnmdlcators for basic needs have been used by Hicks and Streeten for

ent ?
A. Education B. Health n .

Choose the correct answer :
(1) A, C and E only
(3) B and D only (2) A,B,C,DandE

DHDE ©IJTe Fo 18 (4) A, B, CandE only
DS 5T Nomsy 5 o0 T rEE O8RS eQsdBidd SoImd Bod T3S’ 33D E) S0

i\‘ S‘?S B. &80 C. E;l"@%)csso D. DS E. D& I8H0
0B DETETTR), J0BE Fokwss - P

(1) A, C 805D E S
(3) B 080» D Sr(e83

\J/,)

Sanitation D. Electricity E. Water supply

)

%

(2) A,B,C,D S8 E

| (4r A,B, C DH0AW E S5 (¢

140. Which of the following two states were ranked at the top in terms of per capita net state domestic
product in 2021-22 at current prices (with base year 2011-12) ?
A. Sikkim B. Delhi C. Goa
Choose the correct answer : 0
(1) B and C only r{.\ (2) AandC only
(3) D and E only ©

ox (4) AandD only |
& 1500 D Toch T7(aren, 2021-22 &' (DS SBOS’ BYoSHAS SOI8 IES T TIH &)’
(@570 DOJS B0 2011-12) e[ S0S” eI ?  e=memmer S

D. Gujarat E. Telangana

A. Do B. & C. R D. HzoS E. Soomre
DB DATETR) DODE TANSW : ] ‘
(1) B DO C S(edad o (2) A0 C Srledad
V3 D B E (e @) A B D Sr(esDd
141. Which of the following are the common characteristics of developing countries like India ?
A. Low real per capita income B. Scarcity of capital
C. Low incidence of poverty D. High levels of unemployment

E. More income inequalities
Choose the correct answer :
(1) B, C and D only .o (2) A,B,DandE only

(3) A,B,C,Dand E “s @ A CandEonly

806 a¢3cS, e ESHTHO 03 DI Boés?ﬁé; Bros ol den ofren O 7
A SB35 TIVE SOOI eTraOo - 4 B, Qreds S

<

C. $50,8 DAOErdo (BNBSY } . D. 088 d%She Foven

E. 8% esorod eodIrdsen h

DB S DIFETER), DODE TS : o

(1) B, C 8050 D S50 & (27 A,B,D OO E Sr(ehsh

(3) A, B,C,D 8 E 4) A, C SO0 E-Sr(&ad .
142. Who among the following economists is involved in the construction of ‘Human Development Index’ ?

(1) Abhijit Banerjee (2) Mahboob-Ul-Haq

(3) Joseph Stiglitz (4) Jean Dreze

1806 e30% S’ DSBS DB ArDY’ Erage IS’ DO ?

(1) DS BI 2) TS -sS-5

(3) &0D VDS @ 2568

@
E (47) el

pr /g

T .


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247 -

) . Jopment Goals (ML.)GS) 9
143. Which of the following statements is/are correct about Mlllf?muf‘_‘..p—gu ,
A. MDGs have 8 development goals.
B. MDGs consist of 40 indicators.
Choose the correct answer : : Both A and B
(1) B only (2) Aonly (3) Neither A nor ?@@é‘g e
& 1808 &350, DOJIAHO YO Tz (MDGS) 5020500 VO
o

A. MDG e» 8 @93y ©F 500 ¥ON &y ow. o~

B. MDG e 40 &rd¥erd $ON éam av. f;

DB QITETT R, DOV TAWSW : h

(1)h B smé:a) ' @) A (3)<:JA 2805 BTOET S (4) A B3 i
144. Arrange the 'following educational schemes of Ind< ) Government in'chronologlcal order :

A. PMe-VIDYA B. Q{),Skill India Missmx-l .

C. Unnat Bharat Abhiyan D.c» NIPUN Bharat Mission

Choose the correct answer :

(1 C,D,A,B (2) A,B,D,C (3 C,B,AD 4) AC,B,D

(808 276 208,55 D HETOD 50 SITWRBO IS

A D0 9-DSg o B, g ardes DAS

C. &A)S 2SS ©0)ASrS D. QIS (NIPUN) 2SS AN

B DIFTRTR) JoDE TS0 : b

(1) C,D,A,B (2) A,B,D,C @3)9C, B, A, D 4) A,C,B,D

145. Which of the following statements regarding the 'if;hin objectives behind econducting Socio-Economic
and Caste Census 2011 are correct ? ¢

5

A. To enable ranking of households based on thei{"jOCio-économic status.
B. To make available authentic information on caste-wise population enumeration

C. To make available authentic information regarding socio-economic condition and educational
status of various castes and sections of population.

D. To make available authentic information on domestic workers.
Choose the correct answer :
(1) A,Band Conly (2) A, Band D only
(3) A, C and D only (4) B,CandD only
Tir28-eQs SHOA Hoo Head 2011 ASFotsto Iy v
: E:%\ &) WS e ger¥y Q020600 §od o 86.

DD DB ? — ,
A FETB5-08 D3 eEom Heowes oot
B 00036 ey (08 FErHiDs diroas X
FTAAD Hered HOAD BT ZFITe @éyég_:g?z:’@:&oééo.
0PN’ G050, ' Gy T8 BBy |@urdE HsredoT
D. figdr 62500 (a3 SSrerd0 e0therendt Brbiseso,
QDS DSFEar)), HODE AW : o

1) A, B DO C Sr(ebsd

)
B AB
48) A, C 560%w D SrTH 00 D g5,

@ B,C 280 S,
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146. Under the ‘Nai Roshni Scheme’, which of the following are covered in the trai ning module ?
A. Swachh Bharat B. Life skills

C. Financial literacy
E. Health and hygiene
Chose the correct answer :

D. 014 age pension

(1) B, C and D only (2) A, B, C and E only
(3) A,B,C,Dand E (4) A, B andE only
'SoW FRES IPE0’ BEE IrdiriS S, 808 ¢3S A TEJDAT 0N ?
AT D85 eSS BT 285 BHergew
C. DS 5Tdsed D HYTH§ doHo
B esBti50 00k H8H(2seS -
KD DITFETTR)Y, Do B : oF
# B, C 805 D Sr|edad () A, B, C HBAM E Srlehad
(3) A, B,C,D 8 E (4) A, B 8050 E S35

147. Which of the following statements about the~ imted Nations Development Programme’s (UNDP’s)
Gender Social Norms Index (GSNT’s) 2023 1s/are correct ?

A. It quantifies biases against women and transgender persons.

B. It captures people’s attitudes on women’s roles along four key dimensions : pohtlcal educational,
economic and physical integrity.

Choose the correct answer :

(1) B only 52) A only

(38) Neither Anor B "(4) Both A and B

08350725 DS ©DNH@ D50 (UNDP) A3y é’)orS D328 Q0RN® ArdE (GSNI) 2023 HO0W), Sod
a"gmsoé‘ DBIE DO/ ?

A, 3O VN DB SHOIL (ErSHZ0SE) D 1.’)5.:5"@'0& B8N0,
B a0 ozdch, s efs Hoaw TR :o?bu}%é ©F T fof Frd Hrvo JEoD Weo

20S2rSe& DOV, -
DB DAFETR), DoDE TS : —
(1) B & @) ASTSD
(3) A B B BOGT 5% 4) A SHBAM B Boky
148. In 2022-23 Union Budget, the proposed allocation for Housing for All under PM Awas Yojana was
-around :

(1) T 48 thousand crores for 80 lakh houses

(2) T 52 thousand crores for 60 lakh houses =

(3) T 28 thousand crores for 30 lakh houses

(4) T 36 thousand crores for 70 lakh houses ,

2022-23 30(& FES, DTS Ho® eTR. asvz;,é Do 8ok ©0%88 2¢0) (Housing for AlD)
€00B0TONE DB"Eeh TEFANOD) OSTETF | L._ '

(1) 48 I F& Srarahen 80 of e 3¢y S6% o7

2) 52 o F& Srarabhen 60 OF e aY) T

(3) 28 T FL SrarodhHen 30 ©F o Ay FE&

(4) 36 Je> T ErarodHen 70 oF © 9% TE5

F “1'1
R (49) Gl
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149. Which of the following statements are correct as per the ’Iil_l_n')—zgl_Development Report 2023-24 for
the year 2022 ?
A. India ranks 108fh position in gender inequality index. :
B. In terms of gé:der inequality index, India lags behind Bhutan, South Africa and China.
C. Female labour force participation rate in India remains lower than Nepal.
D. Reproductive health, empowerment and labour market are the three dimensions of gender
inequality index.
Choose the correct answer :
(1) A, B and D only
(2) A, B and C only
(3) A, C and D only
(4) B, C and D only e
A7 ©DNBYG VO 2023-24 (HTE0, 2022 HOSSITVE H0OBOD (808 T 55’ DD IVI 7
A Dol ATSS OIS 2r8STH0 108 5 FROS €06,

B Dot @878 rdie (9560, rESEEo En?ms, 80 D5 OO T BFOET) I¥d
&0A. o .

L. rOSTH0 Ty (R 15 38 2R sekog Be BNS Sy HHSS G0d.

D. HIB$)B es8150, QS BeS DO (TE B¢ ©3) D Dol 8 rSeh ATFDEDS’ Surchy Seren.
AT QATTTR), DODE TAVXW

(1) A, B 00 D Sr(edsdh

(2) A, B 8a C (e P

(3) A, C $6080 D Sreh &)

@ B, C 0605 D S3(ebsd ol

i

-
el
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150. As per the New Labour Code, which of the following statements related to the Occupational Safety,
Health and Working Conditions Code 2020 is/aifglcorrect s ;

A. Under ‘One Nation — One Ration Card’, anjigfter-state migrant worker gets ration facility in the
state he works and the remaining family members get ration facility in the state where they
reside. b

B. It is mandatory for the employers to provide annual health check-up of the workers.
Choose the correct answer :

(1) B only (2) Aonly
(3) Neither A nor B {4) Both A and B

§¢ Bab 56 105°60, S9BHEDS H(5e, esEMg-005 5 JBHen 8 2020 & ¥
T 5O DB/ DBDSE/D ? 1 bR 500

“d

A 28 BF0 — 28 BAS 58 (808, ®0d |07 SO0 5°8250¢H @5 DTy ool & AS &

' O 20" BUS HSvaraHo
- TOE ) DB ADS Ereno2) DFgen T ASVoT ol NoS* 6:155)@_::“0&@ Mﬁ;@;@/x

B. Vv, v . X - ™ v, £ ¢ ) <
%&Qiaéra%m SN0 8 SUYS HA 30‘330:53(61 T8 e DOE. (health check-up)
DB DITETERY H0DE Bk - =
1 BSrebh | (2) A ST
(3) A OO B Bodkr 525 (4) A Basw B Bocdky
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